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How to use this book



What distinguishes Business from most A level subjects is the importance of context. Not much business theory is ‘true’ in an abstract way; it becomes true only when intelligently placed into a business situation. So not only does this book have many ‘Real business’ cases within its chapters, it also makes constant reference to actual, up-to-date examples of the main subject matter. In this way, the reader learns the richness of the subject – and finds it easier to remember the key issues.


This book has been designed to be useful in several ways.


For students:





1  To be read: either before the teacher tackles a topic or after, as a reinforcement of the theory. Be sure to ask your teacher what she or he would prefer. When you’ve finished the chapter, have a go at the Workbook questions, which are designed to help you absorb the material you’ve just been reading.



2  As a reference resource. This book has an excellent index at the back – to help you track down a small section on ‘overdrafts’ or ‘cash cows’. So it can be helpful in class, or for homework, as a reference book.



3  As a revision resource. When revising, start by reading the Evaluation at the end of the chapter/topic you’re revising. If this makes sense, you can move on to another chapter/topic. If, having read the Evaluation, you still feel in the dark, you’d better read/re-read the chapter.


In addition, there’s a huge glossary at the back of the book. The Glossary covers every term in the A level specification, so it is a wonderful revision resource. But it contains 375 business terms, so it’s unrealistic to start on it during the week leading up to your exams! Please use it throughout the two years, for every test planned by your teacher.


Having gone through that process, it’s time to test yourself against the specification. This can be seen online or downloaded from http://qualifications.pearson.com/en/qualifications/edexcel-a-levels/business-2015.html. When you have the specification in front of you, go through Themes 1 to 4, making sure to think about the headings (on the left) as well as the detailed subject content (on the right).


Also, for revision, tackle ALL of the numerical questions in Chapter 90 (the answers are at the end of that chapter).



4  Exam technique: see Chapter 90. In addition to quantitative skills, this chapter gives a full explanation of how an examiner sees Assessment objectives (Application, etc.), how to tackle data response questions and how to tackle exam questions. This latter section gives an exam-style question plus student answers – plus an analysis of the student’s strengths and weaknesses. This is ideal exam preparation.





For teachers:





1  ‘I want a text book I can trust so that I can change things up a bit. This week, you’re teaching yourself Quality management. Read Chapter 44 with care, taking notes as you go – and answer the Revision questions. Next Tuesday I’ll test you on what you know.’ This book is a reading book more than a reference book – with lots of examples of application to the real world. I try to set a reading homework early on, then occasionally get further reading done for homework. Overall, though, I’m hoping that students will start to take their own initiative with the reading.



2  All the short questions, the case studies and extended writing questions at the end of the chapters have answers and mark schemes in the Pearson Edexcel A level Business Answer Guide. This is available as a photocopiable pack or as part of the Dynamic Learning digital package. If you feel the need for extra exam papers, Exam Packs for Edexcel Business AS/1st Year and for Year 13 are published by A-Z Business Training Ltd (see www.a-zbusinesstraining.com).





I hope this new book is as enjoyable to use as it was to write.


Ian Marcousé, 2019





Acknowledgements



When I started writing textbooks, research meant going to libraries and tracking down businesspeople for interview. These days Google is hugely helpful, as are the Financial Times, The Grocer and the many business websites I subscribe to. Happily, face-to-face conversations remain vital. Salvatore Falcone at Paneteria Italiana and Matteo Pantani at Scoop are my constant sources of slices of real business life.


And then there are the students and student teachers who chipped in along the way. My writing career started with a student saying, ‘You should write a book of these (case studies)’, so thank you Leda Barrett. More recently, Aaron Osei and Nikhil Edwards have been hugely helpful in getting real student responses to some of my questions. The best of luck to them at university.


Writing a textbook is time-consuming and energy-sapping. So the most important acknowledgement is to my family, especially my wife Maureen, and to my grandchildren, who sometimes have to dig me out of my office so that we can do more important things such as playing trains or digging up the flower patch.


Finally, the subject itself. It’s a cliché to say that business is ever-changing. Thankfully, it’s true. So writing a book in 2018/19 is wonderfully different from ten years ago.


I hope you enjoy that difference.


Ian Marcousé, January 2019







[image: ]





Section 1.1 Meeting customer needs



1 Introduction to marketing
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DEFINITION


Marketing can be defined as the department tasked with targeting the right product at the right target market using the right combination of price, promotion and place.
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1.1 Introduction to marketing


Peter Drucker, a famous business academic, says that, ‘The aim of marketing is to know and understand the customer so well, the product or service fits him and sells itself.’ In other words marketing is about gaining an understanding of what product or service is needed to match customer requirements. This might be through great market research, or through the kind of brilliant insight shown by the founders of Google, Facebook or Apple.


‘Think like a customer.’


Paul Gillin, author, The New Influencers


To turn this understanding into a profitable business requires the ability to communicate the customer benefits clearly and consistently. Lidl’s huge recent success was helped by ‘Big on quality, Lidl on price’. L’Oréal has been transformed from an also-ran into the world’s biggest cosmetics business on the back of the brilliant claim of quality and superiority: ‘Because I’m worth it’. But marketing isn’t simple: if circumstances change, the marketing may have to change, which, in the case of L’Oreal, may mean all four aspects of its marketing: product, price, promotion and place.


1.2 Marketing objectives


A marketing objective is a marketing target or goal that an organisation hopes to achieve, such as to boost market share from 9 to 12 per cent within two years. Marketing objectives steer the direction of the business. Operating a business without knowing your objectives, is like driving a car without knowing where you want to go. Some businesses achieve a degree of success despite the fact that they choose not to set marketing objectives, stumbling across a successful business model by accident. But why should anyone rely on chance? If firms set marketing objectives, the probability of success increases because decision-making will be more focused.


To be effective, marketing objectives should be quantifiable and measurable. Targets should also be set within a time frame. An example of a marketing objective that Nestlé might set is: ‘To achieve a 9 per cent increase in the sales of KitKat by the end of next year.’
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Real business


Marketing objectives in the non-profit sector
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Figure 1.1 Christian Aid Week logo





Charities such as Oxfam and Christian Aid need marketing to keep their brands alive and donations coming in. Typical marketing objectives that a charity may set could include the following.





•  Raise brand awareness. Brand awareness is the percentage of the market that knows of your brand; that is, they can recognise it from a list of brand names, or they can quote it unaided. Raising brand awareness could be a very important marketing objective for a smaller charity that is as yet unknown. If a greater percentage of the general public is aware of a charity’s existence and its activities, donations may increase, enabling the charity to expand its work.



•  Brand loyalty. Brand loyalty exists when consumers return to your brand rather than swapping and switching between brands. A charity could set a marketing objective to improve brand loyalty. If existing donors can be persuaded to set up a direct debit to the charity, the charity’s cash flow will improve.



•  Corporate image. A scandal-hit charity could set a marketing objective of trying to improve its reputation, in order to protect its income stream from donors.





Q. Explain how a business might use advertising to:





a)  Raise brand awareness and




b)  Boost brand loyalty.
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1.3 Marketing strategy


Marketing strategy is the medium- to long-term plan for how to achieve your marketing objectives. The process of thinking it through requires rather more, though, than simply writing down a plan. In his book Even More Offensive Marketing, Hugh Davidson says that effective marketing strategy requires POISE (see Table 1.1).
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Table 1.1 POISE (Source: adapted from Even More Offensive Marketing, H. Davidson, Penguin Books)





It is easy to see that software publisher King Digital showed all these features in its brilliant development and marketing of the Candy Crush Saga. At one stage it had the highest daily usage of any mobile app in the world. It was also grossing an estimated $900,000 a day. King had a long track record of successful games for Facebook, but was one of the first to see the scope for mobile gaming. Candy Crush proved a clever combination of enticing free play plus some irresistible 69p upgrades. King showed every element within the POISE acronym.


Chapters 10–13 show how firms think their strategies through using the marketing mix, carefully combining the four main marketing levers: product, price, promotion and place.


1.4 Making sure your marketing is effective


Effective marketing starts with identifying an opportunity, just as King did with its Candy Crush game. Instead of assuming that all games had to target trigger-happy men, King identified other opportunities among girls and older women.


In many small businesses, the owner will come into regular contact with customers. This allows the owner to hear first-hand about the needs and wants of the target market. In large businesses, formal market research is undertaken because head office managers cannot feel sure that they know what customers think and want. Once consumer wants have been identified, products and services will need to be designed to match consumer preferences. Finally, a launch marketing mix must be decided. This involves decisions such as setting price, choosing an appropriate distribution channel and setting a promotional strategy.
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Figure 1.2 The marketing process





1.5 Why is effective marketing important?


Consumers tend to be quite rational. They will seek out fairly priced products that satisfy their needs. In a competitive market, firms stand or fall according to their ability to satisfy the needs of the consumer. Generally, firms that fail will lack customer loyalty and be punished automatically by the market. These firms will lose market share and profit. Firms with products and services that offer genuine consumer benefits will attract revenue and profit.


Consumer tastes do not tend to stay the same for very long. Therefore, a key aspect of effective marketing is the ability to respond, quickly, to any change in consumer tastes. Firms that fail to adapt their business model, at a time when consumer tastes are changing, are normally forced out of business. In recent years, retail chains such as BHS, Maplins and Poundworld have collapsed.
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Real business


Hula Hoops


Launched in 1996, Hula Hoops quickly became a kids’ favourite, enjoying sales that rose steadily to £90 million a year by 2012. Then sales started falling away as owners PepsiCo became complacent about the brand. It took a relaunch in 2015 to get the brand back on track. The number of flavours was trimmed back and a greater effort was made to promote multipacks sold through supermarkets. As shown in Figure 1.3, the sharper marketing effort paid off.
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Figure 1.3 Annual sales of Hula Hoops (Source: The Grocer Top Products Survey)








Q.  Explain how the recovery in Hula Hoop sales in 2017 might have affected its main competitors.
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1.6 The characteristics of effective marketing


Identifying the target market


When a business creates a new market (as Richard Branson is attempting currently with space tourism), it can aim its product at everyone who can afford the product. Some time later competitors will arrive, and usually focus on one segment of the market. In space tourism, perhaps some firms will focus on thrill-seekers, while others will target wealthy, older travellers seeking a super-safe, luxury version of the same thrill.


‘Everyone is not your customer.’


Seth Godin, American entrepreneur


To succeed at marketing, you need to know and understand the customers within your target market: what do they really want from your product? Is it the satisfaction of using/having the product, or the satisfaction of showing it off to friends? What are their interests and lifestyle? Having a clear idea of the age, sex and personality of the target market enables the business to do the following things.


Focus your market research


A business may focus market research by interviewing only those who make up the target market. This should make the findings far more reliable. If the target market is clearly defined, the firm’s market research budget can be spent with greater effect.


Focus your advertising spending


A business may focus advertising spending on the people most likely to buy the product. One national TV commercial can cost £500,000; it will reach millions of people, but how many are really in the target market? A product targeting young women would be advertised far more cost-effectively through social media.


Segment your markets


Most markets are not made up of identikit consumers who all want exactly the same product. In practice, consumer preferences can vary greatly. Firms that market their products effectively in this situation produce a range of products, each targeted at specific market segments. This is especially obvious in the yogurt section of supermarket chiller cabinets, where yogurts for young/old, healthy/indulgent and adventurous/conservative are all catered for.


A coherent brand image through a coherent marketing mix


Firms that market their products successfully use the marketing mix in an integrated manner to create a coherent and attractive brand image that appeals to the target market. Marketing success depends upon getting all four marketing mix decisions right. A good product that is properly priced and promoted will still fail if distribution is poor. Firms use the marketing mix to create an attractive and coherent brand image for each of the products that they sell. Creating the right brand image is important. If the brand image created by the marketing mix appeals to the target market, there should be an increased chance that the product will succeed.


The most important thing to remember is that all four elements of the mix must be co-ordinated. If the marketing mix is not co-ordinated, mixed product messages will be sent out to the target market. This could create confusion, leading to disappointing sales. The key, then, is to think through the brand image that you want to create before making any other decisions on your product: how you might want to price it, promote it and distribute it.


‘Word-of-mouth marketing has always been important. Today it’s more important than ever because of the power of the internet.’


Joe Pulizzi, business author


1.7 Short-termist marketing = ineffective marketing


Short-termism describes a business philosophy whereby a firm pursues strategies that could boost profit in the short run, even if these strategies damage the firm’s long-run profitability. Some examples of short-termist marketing strategies are given below.


High prices designed to exploit consumer loyalty or a dominant market position


In the short run, firms that operate in a market where there is little competition may be tempted to raise their prices to boost revenues and profits. Over many years, WHSmith boosted profits by increasing prices. This worked very well at first, as it seemed to take a while for customers to realise the changes taking place at the store. By 2012, however, ‘like-for-like’ sales were falling by 5 per cent a year. Like-for-like sales at WHSmith high street stores continued to fall every year between 2012 and 2018.


A decision to exploit consumers by charging high prices is definitely not a good example of effective marketing. High prices can also encourage new competitors to join the industry.


Short-run sales-driven marketing


Some managers believe that their employees can only be motivated to work hard if they are set targets that are linked to bonuses and other performance-related payments. An over-reliance on targets and performance-related pay can create a ruthless and dishonest culture that can affect a firm’s marketing. In many cases over the past 15 years staff at high-street banks have been encouraged by their supervisors to mislead the bank’s customers in order to hit their personal sales targets. Mis-selling financial products to customers can improve a bank’s profitability in the short run; however, if the unethical marketing practices are exposed, the resulting wave of bad publicity may hit demand or lead to fines levied on the banks by regulators.


1.8 Introduction to marketing – evaluation


Marketing guru Philip Kotler says that ‘marketing only takes a day to learn, but a lifetime to master’. It seems easy to learn what customers want – and sell it to them. But this isn’t the case; new product launches by big UK companies such as Mars and Heinz have a success rate of less than 20 per cent. So marketing is harder than it looks – largely because it is easy to ask questions, but harder to interpret the results.


All that is certain about marketing is that there is a wrong way to do it. A short-termist approach based on cynicism will backfire. There may be lots of money to be made before it backfires, but backfire it will. To give one more famous quote, from iconic US President Abraham Lincoln: ‘You can fool all the people some of the time, and some of the people all of the time, but you cannot fool all the people all the time.’
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1.9 Workbook


Revision questions


(25 marks; 25 minutes)





1  In your own words, explain the meaning of the term ‘marketing’.


(3)



2  Why do you think most firms decide to review their marketing strategy at fairly regular intervals?


(3)



3  What is meant by the phrase ‘target market’?


(2)



4  Outline two reasons why it is important for firms to be able to identify their target market.


(4)



5  Outline one possible marketing objective for each of these companies:








a)  Manchester United FC



b)  easyJet



c)  Topshop.


(6)








6  Explain how market segmentation has helped companies such as BSkyB to improve their profitability.


(3)



7  Explain how online advertising might help a business to focus its advertising spending on its target market.


(4)





Data response 1


The role of chance/luck


Effective marketing usually comes about as a result of careful planning. However, in some cases, firms stumble across a successful marketing strategy. Morgan cars is a conservatively run private business. The production methods used by the company have hardly changed in 50 years. Cars are still made largely by hand. Morgan’s best-selling cars are based on designs that have not been changed for decades. In most industries, this approach would be a recipe for disaster. Fortunately for Morgan, the cars continue to sell well within a tiny segment comprised of middle-aged men who want a hand-built British sports car. Morgan has not deliberately engineered its successful use of segmentation, it has happened accidentally; the company has been fortunate.
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Figure 1.4 Morgan cars are based on designs that have not changed for decades





Questions (30 marks; 30 minutes)





1  From your reading of the text, assess whether Morgan’s success is all down to luck.


(10)



2  Evaluate the marketing problems Morgan cars could face if it attempts to expand.


(20)





Data response 2


Launching a new product
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Figure 1.5 KitKat Chunky Double Caramel bar





In 2014 Nestlé announced a new product within its £180 million-a-year KitKat range. It was to be ‘our most significant launch for its Chunky format in fifteen years’ – KitKat Chunky Double Caramel.


The new bar offered consumers what Nestlé described as ‘a unique concept in chocolate singles’ – two portionable halves, each containing a contrasting texture of caramel. One half featured a smooth runny caramel inside, while the other half contained a crunchy caramel filling. Each caramel texture sat on top of crispy wafer and was covered in thick milk chocolate. The bar was aimed at 25–35-year-olds, with a recommended retail price (RRP) of 58p.


Nestlé UK and Ireland spokesperson James Maxton said: ‘Consumer research has shown that a huge 71 per cent of consumers would either probably or definitely buy Double Caramel compared to the typical new product propensity to buy of 54 per cent.’ This form of market research is widely used to judge whether or not a new product will succeed.


The new KitKat bar was supported by a digital and social media campaign set to reach 23 million people. A viral film designed for YouTube launched in September and was amplified through social media and digital channels, including Facebook and Google.


Addressing retailers, Nestlé’s James Maxton said: ‘KitKat has over one million fans on Facebook who will be keen to try this major new launch for themselves. Retailers should therefore expect a high level of trial. In order to capitalise, be sure to stock up from launch and create as high impact off-shelf displays as possible so shoppers cannot miss them.’


Sad to say, research in August 2018 showed that the product was no longer stocked in any of the main supermarket chains. It flopped.


Questions (20 marks; 25 minutes)





1  Nestlé targeted the 25–35-year-old segment of the market with KitKat Double Caramel. Assess two advantages there may have been in targeting KitKat Double Caramel at this segment.


(8)



2  Assess the factors that may have resulted in the failure of KitKat Double Caramel.


(12)
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2 The market
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DEFINITION


The market is where buyers meet sellers, either face-to-face or online.
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2.1 Mass marketing


Mass marketing is the attempt to create products or services that have universal appeal. Rather than targeting a specific type of customer, mass marketing aims the product at the whole market. The intention is that everyone should be a consumer of the product. Coca-Cola is a good example of a firm that uses mass marketing techniques. The company aims its product at young and old alike. Its goal has always been to be the market leader and remains the same today. The ultimate prize of mass marketing is the creation of generic brands. These are brands that are so totally associated with the product that customers treat the brand name as if it was a product category. Examples include ‘Coke’ (cola) and ‘Bacardi’ (white rum).
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Figure 2.1 Mass marketing





As shown in Figure 2.1, when mass marketing is carried out successfully, it can be highly profitable. Firms such as Ryanair set out to be high-volume, mass market operators and achieve handsome profits.


2.2 Niche marketing


A niche market is a very small segment of a much larger market. Niche marketing involves identifying the needs of the consumers that make up the niche. A specialised product or service is then designed to meet the distinctive needs of these consumers. A niche market product sells in relatively low volumes. As a result, prices are usually higher than the mass market alternative.


An entrepreneur wanting to set up a niche market business must first identify a group of people who share a taste for a product or service that is currently unsatisfied. A product or a service must then be designed that is capable of meeting this unsatisfied need. It’s not that a Bounty bar is better than a Mars bar, but only the Bounty bar gives a hit of coconut sweetness. Finally, the niche must be large enough to support a profitable business. Many new niche market businesses fail because the revenue generated from their niche market business is not high enough to cover the costs of operating.


Small niche operators lack the economies of scale required to compete on price with larger, established operators. Instead, the small firm could try to find a small, profitable niche. The amount of profit generated by this niche needs to be high enough for the small firm, but too trivial for the big business. Rubicon Exotic has just a 0.6 per cent share of the £2.5 billion UK market for fizzy drinks. Happily, sales of £15 million are profitable enough to satisfy the requirements of Rubicon Drinks, with its low overheads.


Mass vs. niche


Let no-one doubt it. Every business would love to have the central, mass market positioning of Wrigley (92 per cent share of UK chewing gum market) or Pampers (62 per cent of UK market for disposable nappies). Better still might be Colgate, with its 44 per cent share of the world market for toothpaste. Unfortunately, for the vast majority of businesses, this glorious position is not an option. Yes, Branston can take on Heinz’s mass market positioning in the baked bean market, but who would expect this to be profitable?


The conclusion is clear: if someone else has already ‘captured’ the mass market, you would be wiser to find your own, profitable niche. Then, who knows, in the long term you may be able to move from a strong niche positioning to chip away at the mass market leader. This is what happened to Twinings tea, which – many years ago – was a tiny, upmarket tea brand in a market dominated by PG Tips and Tetley. In 2014, Twinings toppled Tetley to take second place in the sector – and by 2017 it was very close to market leader PG Tips (Figure 2.2).


‘Most large markets evolve from niche markets.’


R. McKenna, businessman
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Figure 2.2 UK tea sales (2004–2017) (Source: The Grocer, Top Products Survey)





When choosing a niche positioning, the key issues are authenticity and the ability to gain a true understanding of the niche (Figure 2.3). In its sector, Alpro has proved masterful at understanding the consumers who believe that dairy products are bad for them. In a completely different sector, the German company Haribo started in a small niche which has grown to become the heart of the UK’s sugar confectionery market.
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Figure 2.3 Logic chain: growing your niche





‘Increasingly, the mass market is turning into a mass of niches.’


Chris Anderson, author of The Long Tail
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Table 2.1 Characteristics of successful products in mass and niche markets
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Real business


Hall’s Soothers


The £1.5 billion UK market for sugar confectionery is ferociously competitive. Skittles battle against Jelly Babies, Fruitella against Starburst and so on. In a niche of its own, though, comes Hall’s Soothers: fruit sweets with a strongly medicinal image – for soothing sore throats. With a recommended retail price of 75p per pack, annual sales are approaching £30 million. These sales are probably very profitable as the brand has little direct competition.


Source: The Scottish Grocer and Convenience Store magazines





Q.  There are 10 sweets in every pack of Hall’s Soothers. From the information provided, calculate how many Soother sweets have to be manufactured in a year.
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2.3 Market size


If a business has a large share of a market, it may worry that boosting sales further may bring investigations from the Competition and Markets Authority. Therefore, its best way to achieve further growth is by encouraging growth in the market sector as a whole. In the UK, Wrigley has a 94 per cent share of chewing gum sales. So anything it could do to boost the size of the market would help boost its own sales.


In these circumstances, businesses might sponsor research by academics into the health-giving properties of the product. Ocean Spray has a 66 per cent share of the UK market for cranberry juice. So research into the supposed benefits of ‘cranberries – the superfruit’ could boost sales in the market as a whole, from which Ocean Spray would get 66 per cent of the benefit. Needless to say, for a company with a 25 per cent market share, boosting the market as a whole would make less sense, as 75 per cent of the benefit would be enjoyed by competitors.


2.4 Market share


Nothing is more important to a marketing department than the market share of its key brands. External factors largely control market size – for example, the weather or the state of the economy. Market share, by contrast, is largely the product of the marketing department’s successes or failures. In 2018, UK sales of Galaxy fell by 2 per cent, while sales of Lindt Lindor rose by 17.2 per cent. Perhaps Mars (Galaxy) focused too much on TV advertising, while Lindt focused on new product development, such as the launch of Lindor chocolate bars.


Companies such as Cadbury and Heinz are lucky enough to operate in very long-lived, stable markets. Many others have to operate in a situation of competitive or market turmoil in which yesterday’s grower is today’s loser. At the time of writing, Sony’s PS4 is still outselling the Nintendo Switch, and both are giving the XBox One a very hard time. If XBox can come up with a brilliant, unique game, this could change quickly.


In setting a market share objective, a company would need to be cautiously optimistic – for example, aiming to push a brand such as Snickers from its 2.5 per cent share of the £3.6 billion UK chocolate market to 3 per cent within the next two years. This would be ambitious, but conceivable. Note that a 3 per cent market share would generate annual sales of £108 million, making it perfectly possible to afford a marketing budget of perhaps £10 million. Small can be beautiful.


2.5 Brands


Faces can just merge into a crowd and disappear. Products would be the same without branding. A brand can be given a ‘personality’, which helps it to be recognised and remembered. Think of the different personalities of brands such as Peperami, BMW, Ryanair and Nespresso. Effective branding is a key aspect to establishing a successful niche market brand. It is also at the heart of achieving product differentiation.


The subject of branding is covered fully in Chapter 11.


2.6 Dynamic markets


There are four key factors to consider in dynamic markets:





1  Online retailing. This distribution channel is dynamic and quite unpredictable. According to research group Kantar, in 2017 online grocery sales accounted for 7.6 per cent of the UK grocery market. That is less than the UK sales of Aldi and Lidl combined. And the growth of online grocery shopping has slowed significantly.


By contrast, ASOS plc has grown its online sales from £8.3 million in 2003 to £2,355 million in 2018. That’s dynamic! Another way of measuring the dynamism of online is to look at the retailers who have been broken by online competition, such as Game, HMV and Phones4U.



2  How markets change. Even physical (as opposed to digital/online) markets change significantly over time. A key factor is changing affluence levels. In the last 20 years, Britons have doubled the amount of their income they spend on eating out. This has created huge new business opportunities for independents and for restaurant chains



3  Innovation and market growth. Innovation means bringing a new idea to life, such as launching a new product or service onto the market. Innovation can help a business gain market share, but can also spur market growth.



4  Adapting to change. Heinz adapted to change in the £580 million ‘table sauce’ category of the grocery trade. Spotting growing sales for chilli sauces, they introduced Mexican Chilli Ketchup and Sweet Chilli Ketchup to the UK. As consumer tastes change, and fashion changes, and competitors come and go, every business needs to be clever about adapting rather than waiting and then being forced to change.





2.7 How competition affects the market


In most markets, competition is a key factor, and potential competition is equally important for keeping companies on their toes.


Competition is the pressure that keeps businesses from getting careless and complacent. Try travelling on Virgin West Coast (the sole operator of trains from London to Manchester) and you quickly learn this. A standard class open return ticket for February 2019 was £350! Careful research could have uncovered a return to New York for that sum of money. Virgin has no competition and therefore it can charge high prices and give no more than the minimum service level agreed in its monopoly contract with the government.


For most companies, competition, not monopoly, is the norm. This makes it hard to charge high prices unless customers perceive the business as offering an outstanding product or service. This encourages companies to try their best to be innovative and creative about how to improve their product range and service level. From a customer point of view, that means important things such as cars today being hugely more reliable than they once were and much wider consumer choice across markets from magazines to cosmetics to chocolate bars.


2.8 The difference between risk and uncertainty


Between 2016 and 2018, UK sales to Turkey jumped by 33 per cent, with car exports doing especially well. Then a collapse in the Turkish lira meant a doubled Range Rover price. Sales were bound to fall sharply.


So, was this a problem of risk or uncertainty? The difference is that risk can be quantified whereas uncertainty cannot. No economist foresaw the halving in the value of the Turkish lira – so it was impossible to quantify this risk. At the start of 2018, if Jaguar Land Rover managers had brainstormed ‘biggest risks we face this year’, a halving of the value of the lira would probably not have come up.


Uncertainty such as that caused by the lira’s collapse is part of business life. Whether it is Sainsbury’s lurching from 32 quarters of successive growth to a sales downturn caused by Lidl/Aldi, or ASOS hit by a stronger pound, uncertainty is a constant.


So what exactly is risk? This is best answered with statistics. Data from America shows that only 40 per cent of new, independent restaurants survive until the end of year three. So their failure rate is 60 per cent and therefore the risk of failure can be quantified at 60 per cent. Assuming the same is true in Britain and elsewhere, does that mean that no one in their right mind should start their own restaurant? Well, no. But it does mean three things:





1  No one should risk their life savings opening a new, independent restaurant.



2  It may be worth considering a lower-risk proposition, such as buying a franchise to operate a successful restaurant brand such as TGI Fridays.



3  It can only be worth opening a high-risk independent restaurant if there are big profit margins, allowing the chance of big profits if the business succeeds (pizza falls into this category, because £1 of ingredients can be sold for £10).





In business, risks are assessed and – where possible – quantified, to help managers make better decisions. Whatever decision is made, factors causing uncertainty (including simple bad luck) will then affect whether the decision turns out well or badly.


2.9 The market – evaluation


Which is better? Is it mass or niche marketing? The answer is that it depends. In the bulk ice cream market, large packs of vanilla ice cream have become so cheap that little profit can be made. It is better by far to be in a separate niche, whether regional, such as Mackie’s Scottish ice cream, or upmarket, such as Rocombe Farm or Häagen-Dazs. The latter can charge ten times as much per litre as the mass market own-label bulk packs.


Yet would a film company prefer to sell a critic’s favourite or a blockbuster smash hit? The answer is the latter, of course. In other words, the mass market is great, if you can succeed there. Businesses such as Heinz, Kellogg’s and even Chanel show that mass marketing can be successful and profitable in the long term.
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2.10 Workbook


Revision questions


(30 marks; 30 minutes)





1  Identify two advantages of niche marketing over mass marketing.


(3)



2  Give three reasons why a large firm may wish to enter a niche market.


(3)



3  Why may small firms be better at spotting and then reacting to new niche-market opportunities?


(3)



4  Give two reasons why average prices in niche markets tend to be higher than those charged in most mass markets.


(2)



5  Outline two reasons why information technology has made niche marketing a more viable option for large firms.


(4)



6  Explain why it is important for a large firm to be flexible if it is to successfully operate in niche markets.


(2)



7  In your own words, explain why niche market products may generate higher profit margins than mass market products.


(3)



8  A new chairman sets the chief executive of Tesco the corporate objective of restoring Tesco’s UK market share to 32 per cent, from its current figure of 28 per cent. Outline two possible marketing objectives that might help achieve this target.


(4)








9  a)  If a company operating in a stable market sees its market share fall from 5 per cent to 4 per cent, what would be the percentage impact on its sales revenue?


(2)








b)  How might the business respond to such slippage in its market share?


(4)





Data response 1


Coconut: turns water into gold


Not long ago, coconut water went down the drain as an unwanted waste product in making coconut flakes and so-called dessicated coconut (for making Bounty Bars). Then childhood friends Mike Kirban and Ira Liran met two Brazilian girls at a New York bar. They asked what the girls missed from Brazil, and both said coconut water. A year later Vita Coco was launched – a not-from-concentrate, 100% pure coconut water. After success in America it was launched in Britain in 2010.


The timing proved perfect. British consumers were turning away from fizzy soft drinks and also fruit juices – worried about the sugar content. Instead they were drinking more water. So coconut ‘water’ matched the consumer mood. Sales rocketed. According to Kantar secondary data, the value of the UK market for coconut water grew 20 times between 2012 and 2015. That’s phenomenal. For Vita Coco, an independent private limited company, growth in sales of coconut water meant sales booming to £30.8 million in 2015.
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Figure 2.4 Vita Coco





But on 27 August 2016, The Grocer asked where all this ‘pure’ coconut water was coming from. In America a 2014 test of 20 coconut waters found that 12 contained added sugar – not declared on the label. A 2015 study in Brazil showed 11 out of 17 had undeclared added sugar. The magazine explained that the juice from young coconuts is naturally sweet; but when the coconuts get older, the juice is too bitter to drink raw; sugar is needed (but ‘added sugar’ would hit sales). The boss of the Chi coconut water brand worries about opportunism: ‘Lots of people have jumped on the coconut water bandwagon. The result is coconut water from concentrate or mixed with fruit sugar – or 50 per cent coconut water with added sugar and water.’


Now Vita Coco plans to differentiate itself from the increasingly crowded mass market. This autumn it will launch an ‘artisanal coconut water’ coming from a single-source in Thailand where premium ‘Nam Hom’ coconuts are grown in Fairtrade conditions. Already coconut water commands a price premium (in Tesco it’s £3.49 a litre compared with £2.48 for Tropicana Orange); doubtless the new premium product will have an even higher price.


And what about competition? Coca-Cola has used its Innocent Drinks brand to launch Innocent Coconut Water which managed £5.2 million of sales in its first year, 2015. And there are an estimated 20 other brands jostling for a market size of £90 million in 2015. Not bad for a throwaway item.


Questions (20 marks; 25 minutes)





1  Outline two possible reasons why UK consumers have taken to coconut water.


(4)








2  a)  Calculate Vita Coco’s 2015 UK market share.


(4)








b)  Explain why that level of market share may be of value to Vita Coco Ltd.


(4)








3  Assess the value to Vita Coco of establishing a niche product based on Fairtrade ‘Nam Hom’ coconuts.


(8)





Data response 2


Winter melon tea


Mass market soft drinks like Coca-Cola and Pepsi are very popular in countries such as Hong Kong and Singapore. In an attempt to survive against the imported competition, local producers of soft drinks have managed to establish a flourishing niche market for traditional Asian drinks sold in 33cl cans. Sales of these niche market products have been rising but from a very low level.


Consumers that make up this niche market are encouraged to believe, through advertising, that traditional drinks such as winter melon tea and grass jelly drink are healthier than their mass market alternatives. Other firms use economic nationalism to sell their drinks, using slogans such as ‘Asian heritage’ in their advertising.


However, producers of traditional drinks could now become a victim of their own success. Foreign multinationals have noticed the rapid growth of this market niche, and in response they have launched their own range of traditional drinks.


Questions (30 marks; 35 minutes)





1  a)  What is meant by a mass market product?


(2)








b)  Explain why Asian traditional drinks are examples of niche market products.


(4)








2  Assess two ways in which the producers of traditional drinks, such as winter melon tea and grass jelly drink, created product differentiation.


(8)



3  Niche market products are normally more expensive than most mass market products. Using the example of traditional Asian drinks, explain why this is so.


(4)



4  Evaluate whether the local producers of Asian traditional drinks will be able to survive in the long term given that their products now have to compete against me-too brands produced by foreign multinationals such as Coca-Cola and Pepsi.


(12)
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3 Market research
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DEFINITION


Market research gathers information about consumers, competitors and distributors within a firm’s target market. It is a way of identifying consumers’ buying habits and attitudes to current and future products.
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3.1 Product and market orientation


Effective marketing is usually based around an approach that is market-orientated, rather than product-orientated. In a market-orientated business, managers take into account the needs of the consumer before making any decision. They put the customer at the heart of the decision-making process.


‘The aim of marketing is to know and understand the customer so well the product or service fits him and sells itself.’


Peter Drucker, business author/guru


Some firms still use a product-orientated approach to marketing. This leads managers to focus on what the firm does best; internal efficiency comes before consumer preferences. Product orientation may lead the business towards the following approaches.





•  The hard sell: employing a large sales force to go out and convince consumers that they should buy your product. Individualised sales targets, low basic salaries and high rates of commission ensure that sales staff will be incentivised to hit their targets, enabling the firm to sell the products that it has already produced.



•  Cutting costs and prices: if a product-orientated firm’s products are not selling very well, managers tend to respond to this crisis by cutting costs. If costs can be cut, retail prices can also be cut without any loss of profit margin.





The problem with the above approaches is that they keep the business doing what it traditionally does, without anticipating customers’ changing needs. That is what happened to Nokia, who once dominated the world market for mobile phones. When the iPhone arrived, Nokia kept on trying to tweak their old-style phones instead of accepting that Apple had changed the rules on smartphone design.


On the other hand, there are some weaknesses in market orientation. The death of Rover Cars (once one of the world’s biggest car producers) was partly due to this. Rover management thought customers could be attracted by marketing gimmicks such as ‘special edition’ cars, or cars with angular steering wheels. A greater focus on the quality and reliability of the product would have been far more effective. Fortunately, the Land Rover part of the business was sold off and in recent years has flourished in Britain under the leadership of Tata Motors of India.
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Real business


Missguided


Missguided is a Manchester-based online clothing retailer focused on young women. Started by Nitin Passi in 2009 while he was in his mid-twenties, the business focuses on Instagrammable clothes. Now that Nitin is a bit older (and richer), he’s aware of the risk of losing touch with the target market segment. So he has opened two retail stores (one in London), to get instant, face-to-face reactions to new product lines. This is to sustain the market orientation of the business. Sales of £200 million in 2017 looked set to boom further due to a sales partnership with the ITV2 blockbuster programme, Love Island.
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Figure 3.1 Missguided





Q. Assess how Missguided might use the customer insights it gains from this approach to market research.
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3.2 Primary and secondary market research


One of the biggest causes of business failure is poor market understanding. This is why market research has the potential to be valuable to every business. For a business start-up, finding out the market size and competitors’ strengths and weaknesses are all-important. For an established business, market research can reveal where customers are starting to lose faith in a particular product or brand – perhaps opening up an opportunity for an innovative new product.


So how can firms find out this type of information? The starting point is secondary research: unearthing data that already exists.


Methods of secondary research


Internet


Most people start by ‘Googling’ the topic. This can provide invaluable information, though online providers of market research information will want to charge for the service. With luck, Google will identify a relevant article that can provide useful information.


Trade press


Each week, The Grocer magazine provides a full analysis of a market. For example, 18 August 2018 showed that annual sales of chilled desserts amount to £755 million, with chilled cakes growing by 29 per cent. Every major market is served by one or more magazines written for people who work within that trade. Spending £4 on an issue of The Grocer provides lots of statistical and other information. Many trade magazines are available for reference in bigger public libraries.


Government-produced data


The government-funded National Statistics produces valuable reports, such as the ‘Annual Abstract of Statistics’ and ‘Labour Market Trends’. These provide data on population trends and forecasts; for example, someone starting a hair and beauty salon may find out how many 16–20-year-old women there will be in the year 2050.


Having obtained background data, further research is likely to be tailored specifically to the company’s needs, such as carrying out a survey among 16–20-year-old women about their favourite haircare brands. This type of first-hand research gathers primary data. Some of the pros and cons of primary and secondary research are given in Table 3.1.
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Table 3.1 The pros and cons of primary and secondary research





Methods of primary research


The process of gathering information directly from people within your target market is known as primary research (or field research). When carried out by market research companies it is expensive, but there is much that firms can do for themselves.


For a company that is up and running, a regular survey of customer satisfaction is an important way of measuring the quality of customer service. When investigating a new market, there are various measures that can be taken by a small firm with a limited budget.





•  Retailer research: the people closest to a market are those who serve customers directly – the retailers. They are likely to know the up-and-coming brands, the degree of brand loyalty and the importance of price and packaging, all of which is crucial information.



•  Observation: when starting up a service business in which location is an all-important factor, it is invaluable to measure the rate of pedestrian (and possibly traffic) flow past your potential site compared with that of rivals. A sweet shop or dry cleaners near a busy bus stop may generate twice the sales of a rival 50 yards down the road.





For a large company, primary research will be used extensively in new product development. For example, if we consider the possibility of launching Orange Chocolate Buttons, the development stages, plus research, would probably be as shown in Table 3.2 (page 16).
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Table 3.2 Primary research used in new product development (Orange Chocolate Buttons)







[image: ]


Real business


The Toyota MR2


When Toyota launched the MR2 sports car, sales were higher than expected. The only exception was in France, where sales were very poor. The Japanese head office asked the executives of Toyota France to look into this. Why had it been such a flop? Eventually, the executives admitted that they should have carried out market research into the brand name MR2 prior to the launch. Pronounced ‘Em–Er-Deux’ in France, the car sounded like the French swear word merde (crap).


Q. Explain why a large business such as Toyota might decide not to carry out market research.


[image: ]





3.3 Qualitative research


This is in-depth research into the motivations behind the attitudes and buying habits of consumers. It does not produce statistics such as ‘52 per cent of chocolate buyers like orange chocolate’; instead, it gives clues as to why they like it (is it really because it’s orange, or because it’s different/a change?). Qualitative research is usually conducted by psychologists, who learn to interpret the way people say things, as well as what they say.


‘Eighty to ninety per cent of our behaviour is determined by our subconscious mind. The problem market researchers face is that they communicate with the conscious mind of consumers.’


Robert Poldervaart, researcher


Qualitative research takes two main forms, as described below.


Group discussions (also known as focus groups)


These are free-ranging discussions led by psychologists among groups of six to eight consumers. The group leader will have a list of topics that need discussion, but will be free to follow up any point made by a group member. Among the advantages of group discussions are that they:





•  may reveal a problem or opportunity the company had not anticipated



•  reveal consumer psychology, such as the importance of image and peer pressure.





Depth interviews


These are informal, in-depth interviews that take place between a psychologist and a consumer. They have the same function as group discussions, but avoid the risk that the group opinion will be swayed by one influential person. Typical research questions are shown in Table 3.3.
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Table 3.3 Typical research questions






3.4 Quantitative research


This asks pre-set questions on a large enough sample of people to provide statistically valid data. Questionnaires can answer factual questions, such as ‘How many 16–20-year-olds have heard of Chanel No 5?’ There are three key aspects to quantitative research:





•  sampling, ensuring that the research results are typical of the whole population, though only a sample of the population has been interviewed



•  writing a questionnaire that is unbiased and meets the research objectives



•  assessing the validity of the results.
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Figure 3.2 Logic chain: getting research right





3.5 Limitations of market research, sample size and bias


Although the most obvious limitation of market research is its accuracy (dealt with below), a more important problem may be its validity – that is, whether the findings tell you anything meaningful. Market research can uncover consumer views on minor things, such as the level of interest in a new Cadbury Dairy Milk bar with cashew nuts. But Steve Jobs always claimed that market research was incapable of seeing potential in real leaps forward. So the Apple iPod, iPhone and iPad received no market research backing. Not that he was the first to think this way. Henry Ford, in the 1920s, said that if he had asked customers, ‘they’d have asked for a faster horse’ (rather than a car).


‘Running a company on market research is like driving while looking in the rear view mirror.’


Anita Roddick, founder of Body Shop


Sample size


A key consideration is to determine how many interviews should be conducted. Should 10, 100, or 1000 people be interviewed? The most high-profile surveys conducted in Britain are the opinion polls asking adults about their voting intentions in a general election. These samples of between 1000 and 1500 respondents are considered large enough to reflect the opinions of the electorate of 45 million. How is this possible?


Of course, if you only interviewed ten people, the chances are slim that the views of this sample would match those of the whole population. Of these ten, seven may say they would definitely buy Chocolate Orange Buttons. If you asked another ten, however, only three may say the same. A sample of ten is so small that chance variations make the results meaningless. In other words, a researcher can have no statistical confidence in the findings from a sample of ten.


A sample of 100 is far more meaningful. It is not enough to feel confident about marginal decisions (for example, 53 per cent like the red pack design and 47 per cent like the blue one), but is quite enough if the result is clear-cut (such as, 65 per cent like the name ‘Spark’; 35 per cent prefer ‘Valencia’). Many major product launches have proceeded following research on as low a sample as 100.


With a sample of 1000, a high level of confidence is possible. Even small differences would be statistically significant with such a large sample. So why doesn’t everyone use samples of 1000? The answer is because of the cost of doing so. Hiring a market research agency to undertake a survey on 100 people would cost approximately £10,000. A sample of 1000 people would cost three times that amount, which is good value if you can afford it but not everyone can. As shown in the earlier example of launching Orange Buttons, a company might require six surveys before launching a new product. So the amount spent on research alone might reach £180,000 if samples of 1000 were used.



Sample bias


Even with a large sample size, it is possible to get inaccurate findings due to sample bias. In 1936, an American magazine made the wrong forecast of a Presidential election despite a sample of 2.4 million potential voters. The magazine announced that the Republican candidate would win with 55 per cent of the poll. When Democrat F. D. Roosevelt won a landslide, commentators laughed at the ‘useless’ new science of sampling. Yet a sample of just 3000 by the Gallup Poll predicted the result correctly. This proved that the size of a sample is no guarantee of accuracy. The magazine had a huge sample, but it had drawn it from telephone directories and car owners – both affluent populations in the 1930s. Dr Gallup had made sure to find a sample that was truly representative of ordinary Americans. Sampling, then, is more about accuracy than size – though size still matters.


3.6 Use of IT to support market research


Websites


Many websites automatically generate customer questionnaires. They might target everyone through the home page or focus on a subgroup, such as browsers of John Lewis online interested in baby products. Although this seems a great way to get ‘free’ research data, there are many negatives. Setting up the programme and the automated data collection takes man hours, and there are important questions to ask about the reliability of the findings. Who answers web questionnaires? There could be a bias towards those with time on their hands (pensioners?) or towards those who think particularly highly of the product/company.


The use of social media


Social media provide the interactivity that may help create some bonding between consumer and brand. This may lead to richer market research findings. Social media can provide a way to gain a fuller understanding of what customers really love about the brand and the product range. It can help gain a fuller understanding of customers and the market you are serving. In the past, this was attempted through market research, but the interactions between company and customer have the potential to be much richer. When Innocent Drinks recently introduced their first grass-covered van to Ireland, they asked blog followers to suggest a name. ‘LamborGreeny’ was one of many suggestions.
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Figure 3.3 Innocent Drinks is known for its smoothies





The second benefit is derived from the first. Stronger relationships between consumer and brand can cement brand loyalty – and, in the long run, there are few more valuable attributes than that.


Databases


In 2017, 87 per cent of UK grocery shopping was done with the use of so-called loyalty cards, such as Tesco’s Clubcard. This provides the retailer with a multi-million user database, which can be interrogated to find out answers to quantitative questions, such as what percentage of purchases of Lynx are among households with boys under 12? Classic research on a small sample of the population can never beat finding out facts from a huge database.


3.7 Market segmentation


Segmentation means finding ways to divide a market up to identify untapped opportunities, perhaps among older consumers, or among those who believe they are wheat intolerant. Market segmentation is the acknowledgement by companies that customers are not all the same. ‘The market’ can be broken down into smaller sections in which customers share common characteristics, from the same age group to a shared love of Manchester United. Successful segmentation can increase customer satisfaction and provide scope for increasing company profits.


For new, small companies, segmentation is a valuable strategy for breaking in to an established market. For large companies, market segmentation involves two possibilities:





1  Simply to add one niche product to a portfolio otherwise dominated by the mass market.



2  Multiple segmentation, in which a wide portfolio of niche brands can add up to a market-leading position. This approach would have risked being only marginally profitable in the past, but flexible, high-tech manufacturing systems can make it cost-effective to produce differently targeted products on the same production line. A good example is Ella’s Kitchen – a baby food company which has enjoyed sales growth from £2 million a year in 2009 to £65 million in 2018 by spreading the idea of food good for babies across a series of different sectors (and 15 countries overseas).





To successfully segment a market, the steps are as follows.





1  Research into the different types of customer within a marketplace – for example, different age groups, gender, regions and personality types.



2  See if they have common tastes/habits; for example, younger readers may be more focused on fashion and celebrities than older ones.



3  Identify the segment you wish to focus on, then conduct some qualitative research into customer motivations and psychology.



4  Devise a product designed not for the whole market but for a particular segment; this may only achieve a 1 per cent market share, but if the total market is big enough, that could be highly profitable.





3.8 Market research – evaluation


In large firms, it is rare for any significant marketing decision to be made without market research. Even an apparently minor change to a pack design will only be carried out after testing in research. Is this overkill? Surely marketing executives are employed to make judgements, not merely do what surveys tell them?


The first issue here is the strong desire to make business decisions as scientifically as possible; in other words, to act on evidence, not on feelings. Quantitative research, especially, fits in with the desire to act on science not hunch. Yet this can be criticised, such as by John Scully, former head of Apple Inc, who once said: ‘No great marketing decision has ever been made on the basis of quantitative data.’ He was pointing out that true innovations, such as the Apple iPad, were the product of creativity and hunch, not science.


The second issue concerns the management culture. In some firms, mistakes lead to inquests, blame and even dismissal. This makes managers keen to find a let-out. When the new product flops, the manager can point an accusing finger at the positive research results: ‘It wasn’t my fault. We need a new research agency.’ In other firms, mistakes are seen as an inevitable part of learning. For every Sinclair C5 (unresearched flop), there may be an iPad (unresearched moneyspinner). In firms with a positive, risk-taking approach to business, qualitative insights are likely to be preferred to quantitative data.




[image: ]


3.9 Workbook


Revision questions


(35 marks; 35 minutes)





1  State three ways in which a cosmetics firm could use market research.


(3)



2  Outline three reasons why market research information may prove inaccurate.


(6)



3  Distinguish between primary and secondary research.


(3)



4  What advantages are there in using secondary research rather than primary?


(3)



5  State three key factors to take into account when writing a questionnaire.


(3)



6  Explain two aspects of marketing in which consumer psychology is important.


(6)



7  Outline the pros and cons of using a large sample size.


(4)



8  Identify three possible sources of bias in primary market research.


(3)



9  Explain why street interviewing may become less common in the future.


(4)





Data response


Pudding treats for dogs


Each year, more than £1500 million is spent on pet food in the UK. All the growth within the market has been for luxury pet foods and for healthier products. Seeing these trends, in early 2018 Town & Country Petfoods launched ‘HiLife Just Desserts’, a range of pudding treats for dogs. They contain Omega-3 but no added sugar and therefore have no more than 100 calories per tin.


Sales began well, especially of the apple and cranberry version. Now sales have flattened out at around £1 million a year and the company thinks it is time to launch some new flavours. They commissioned some primary research that was carried out using an online survey linked to pet care websites. The sample size was 150.


The main findings of the online survey are shown below.





1  Have you ever bought your dog a pet food pudding?
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2  Which of these flavours might you buy for your dog?
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The marketing director is slightly disappointed that none of the new product ideas has done brilliantly, but happy that there’s one clear winner. She plans a short qualitative research exercise among existing HiLife customers and hopes to launch two new flavours in time for the annual Crufts Dog Show in three months’ time.


Questions (30 marks; 35 minutes)





1  Explain whether the sample size of 150 was appropriate in this case.


(4)



2  Explain one possible drawback of using an online survey.


(4)



3  Assess the marketing director’s conclusion that ‘none of the new product ideas has done brilliantly’, but that she is ‘happy that there’s one clear winner’.


(10)








4  a)  Explain one method of qualitative research that could be used in this case.


(4)








b)  Assess two ways in which qualitative research may help the marketing director.


(8)
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4 Market positioning
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DEFINITION


When launching a new product or service, companies need to decide where exactly they want to position the brand in relation to customer perceptions and the positioning of competitors. This is largely achieved by market mapping.
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4.1 Market mapping


Market mapping is carried out in two stages.





1  Identify the key features that characterise consumers within a market; examples in the market for women’s clothes would be: young/old and high fashion/conservative.



2  Having identified the key characteristics, place every brand on a grid such as that shown in Figure 4.1; this will reveal where the competition is concentrated, and may highlight gaps in the market.
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Figure 4.1 Example of a market map for fast food





Using this approach could help in identifying a product or market niche that has not yet been filled. In the market map shown in Figure 4.1, there appears to be an available niche for healthy eating for younger customers within the fast food sector. The market map points to the possibility of this positioning, but then it would be up to the entrepreneur to investigate further. There may be a niche, but too small to provide an opportunity for a profitable business.


A great example of positioning is Lindor’s position within the UK’s treat segment of the chocolate market. With Quality Street and Maltesers among its direct competitors, Lindor has persuaded chocolate-buyers that it’s not only a great gift, but also the ideal all-year-round self-reward (see Figure 4.2).
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Figure 4.2 Annual sales of three chocolate treats, 2011–2017 (Source: The Grocer)





4.2 Competitive advantage of a good or service


If your parents had invested £1000 in Amazon when it floated on the US stock market in 1997, they would have shares worth more than £1 million today. The apparently unstoppable rise of what was once an online bookstore is based on two things: price and convenience. Anyone who has tried to ‘take on’ Amazon over the past 20+ years has always lost. This is because Amazon’s boss, Jeff Bezos, has always worked hard at creating the most efficient supply system possible. With costs that are lower than rivals, Amazon can offer more to customers, such as free delivery and a super-efficient service.


‘Competitive advantage is a company’s ability to perform in one or more ways that competitors cannot or will not match.’


Philip Kotler, marketing guru


Competitive advantage can also be achieved by differentiation – that is, setting yourself apart from your rivals. BMW achieves this in the UK car market; Apple achieves it in the market for mobile phones. It may be a result of great design or advanced technology – or simply a consequence of great marketing, as in the case of Coca-Cola. The great strength of this market positioning, though, is that the competitive advantage enables the producer to (within reason) set the price without worrying about the competition.


Figure 4.3 shows the position of supermarkets in the market on a continuum from lowest cost to most highly differentiated. Perhaps the fact that Morrisons and Tesco appear in the middle of the continuum is the reason why both have had difficult trading periods in recent years.
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Figure 4.3 Competitive advantage in the UK grocery market: avoid being the piggy in the middle





‘If you don’t have a competitive advantage, don’t compete.’


Jack Welch, former boss of the US giant General Electric


4.3 The purpose of product differentiation


Product differentiation is the degree to which consumers perceive that your brand is different from its competitors. A highly differentiated product is one that is viewed as having unique features, such as Marmite or the iPhone. A highly differentiated product may have substitutes. However, if differentiation is strong enough, consumers will not even bother looking at these other brands when making their purchasing decisions. The substitutes available are not acceptable to the consumer. A product’s point of differentiation is often described as a unique selling point, or USP.


Creating product differentiation


Product differentiation can be created in two ways. One is actual differentiation that creates genuine consumer benefits. Actual product differentiation can be created by:





•  a unique design that is aesthetically pleasing to the eye, e.g. Scandinavian furniture from IKEA



•  a unique product function, e.g., the waterproof iPhone 7



•  a unique taste, e.g. Dr Pepper



•  ergonomic factors, e.g. an easy-fold child’s pushchair



•  superior performance, e.g. a Dyson vacuum cleaner.





The second type of differentiation involves creating differences that exist only in the mind of the consumer. A product can be differentiated by psychological factors, despite the fact that it is not physically different from a similar product produced by the competition. Imaginary product differentiation can be created via persuasive advertising, celebrity endorsements and sponsorship. When a product is consumed, it is not just the product itself that is consumed; buyers also enjoy ‘consuming’ the brand’s image too.


The purpose behind product differentiation is two-fold:





1  To insulate the product or service from the competitive market. Marmite is ‘spread’ that goes on bread or toast; but if there’s a cut in the price of rival spreads, honey or jam, sales of Marmite will hardly register a blip. And this is what companies seek: a world in which they control their market position and, therefore, their sales. No company wants fierce, direct competition.



2  To enable the business to increase its prices if costs go up, in order to protect its profit margins. As is discussed in Chapter 8, this suggests that the higher the product differentiation, the lower the price elasticity.





‘There is no such thing as a commodity. It is simply a product waiting to be differentiated.’


Philip Kotler, marketing guru
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Figure 4.4 Logic link: boosting product differentiation





4.4 Adding value to products or services


Adding value means stretching the difference between the cost of bought-in goods and services and the price that a company can get for its goods. In some cases, the added value may be huge, such as the difference between the price of a Starbuck’s coffee and the cost of the coffee beans, milk and sugar. In other cases, the added value may be quite slim, as in the case of a Ford Focus, which is assembled by Ford from lots of parts bought-in from other suppliers.


Traditionally, in the catering trade, the rule-of-thumb has been to charge customers four times the cost of ingredients. So a £5 piece of steak is priced at £20. The remaining £15 is far from profit, of course. It is needed to pay the wage bill, the rent, the bills, the advertising and so on.


So how can value be added to a product or service? The most common ways are:





1  To create an image that is so attractive or quirky that people are willing to pay more to be associated with the brand. At the time of writing, lots of people want jackets or jumpers that shout Jack Wills or SuperDry. Wonderfully for the producer, customers are paying a price premium to advertise the company’s brand.



2  To create a truly fantastic product or service, such as the Chinese social messaging sensation WeChat.



3  To wrap the product up in a way that makes it seem remarkably clever (and perhaps costly to produce). There is a reluctance to spend a lot on an English breakfast because we all know how to cook it. But although it may be no cleverer to make waffles and maple syrup, customers may be more impressed. So a waffle with 20p of ingredients sells for £3, while a £2 breakfast sells for £4.





4.5 Market positioning – evaluation


In recent decades, Real Madrid and Manchester United have both tried to position themselves as the most glamorous football club in the world. At the time of writing, Real Madrid has achieved this. Barcelona might play the best football and Bayern Munich might be the best team, but Real’s point of differentiation is glamour. The clever thing is that this point of differentiation adds value – people will pay more for a glamorous shirt.


This, then, is the key message behind market positioning: choose a position that customers find acceptable, while the company finds it profitable, then work out how to secure it. Advertising, packaging and all other forms of promotion must focus on making customers believe in that market position.
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4.6 Workbook


Revision questions


(30 marks; 30 minutes)





1  Identify three markets where age is a crucial factor in drawing up a market map.


(3)



2  The UK population is growing older, with a rising proportion of over 60s. Outline two business opportunities that may arise as the population gets older.


(4)



3  Give three possible sources of competitive advantage for an independent clothes shop.


(3)



4  Why might it be difficult to differentiate a mass market brand?


(4)



5  What would you say is the USP of each of the following:








a)  Maltesers



b)  the latest iPhone



c)  Marmite?


(6)








6  Suggest four ways in which value could be added to a plank of wood.


(4)



7  Explain how your school or college differentiates itself.


(6)





Data response


Galaxy chocolate at 15p – head for India


Around the globe, the $100 billion chocolate market is a battle between four multinationals: Mars, Nestlé, Ferrero and Mondelez (the Kraft subsidiary that includes Cadbury). An exception is India, where Cadbury is dominant, and Mars has no significant foothold. Given that India is the world’s fastest-growing market for chocolate, it should be no surprise that Mars is determined to tackle this issue. So, it launched Galaxy ‘Premium’ chocolate to take on the might of Cadbury Dairy Milk.


Its approach to the launch showed all the signs of desperation. Although the Galaxy launch was supported by a glossy advertising campaign featuring Bollywood superstar actors, Mars priced Galaxy extremely competitively. In the middle of the market, Cadbury Dairy Milk had a 38 gram ‘value’ pack priced at 22p and a 60 gram Dairy Milk ‘Silk’ pack for 55p. Mars priced a 40 gram pack of Galaxy at 15p. According to MV Natarajan, head of Mars’ India operation:


‘India is the world’s fastest growing chocolate market and the moulded chocolate segment is the fastest growing sector. India is a very important market for Mars. With this launch we are entering an extremely dynamic segment with our business objective of growing our product range in India.’


The market for chocolate in India has a value of just £750 million at the moment. It is this small because Indians currently eat less than a sixtieth of the amount of chocolate eaten in Britain (0.165 kg per person per year, compared with our 10.2 kg!). But the market is forecast to grow at 17 per cent a year between 2017 and 2023, which will take it towards the UK’s market size.
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Figure 4.5 Chocolate market share percentage, India, 2016





Mr Natarajan’s marketing strategy has two further elements to it. There is a marketing plan targeting the 0–18 age category, based on free distribution of sweets twice a year, on Independence Day and again on Republic Day. The 19–35s are also targeted using a tie-up with Facebook. One week before a friend’s birthday, Facebook sends the message ‘Do you want to send chocolates on your friend’s birthday?’ There can be no doubt that Mars is determined to succeed.


Questions (30 marks; 35 minutes)





1  Assess two possible reasons why Mars wants to build a market share in India.


(8)



2  From the text, assess how well Mars has used market positioning in its launch of Mars Premium chocolate in India?


(10)



3  Evaluate how Mars, India, might add more value to its Galaxy brand to enable it to charge a higher price.


(12)
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Section 1.2 The market



5 Demand



5.1 Introduction


Managers and owners seek control over the day-to-day events affecting their business. Ice cream entrepreneurs hate the fact that – however great their ice cream – the weather is the single biggest determinant of daily demand. There are many factors that affect the demand for different products and services. Business people try, as much as possible, to bring the factors within their influence and ideally control. Even if the weather cannot be controlled, businesses try to combat its effects. In central London, Italian ice cream parlour Amorino also specialises in 15 different flavours of hot chocolate – to keep customers coming even when the weather is poor.


‘What the customer demands is last year’s model, cheaper. To find out what the customer needs you have to understand the customer.’


Edna St Vincent Millay, 1920s poet and playwright


5.2 Main factors affecting demand for a product or service


Price


Price affects demand in three ways.





1  You may want an £80,000 Mercedes convertible, but you cannot afford it; the price puts it beyond your income level. The higher the price, the more people there are who cannot afford to buy.



2  The higher the price, the less good value the item will seem compared with other ways of spending the money. For example, a Chelsea home ticket costing £68 is the equivalent of going to the movies six times. Is it worth it? The higher the price of an item, the more there will be people who say no.



3  It should be remembered that the price tag put on an item gives a message about its ‘value’. A ring priced at 99p will inevitably be seen as ‘cheap’, whether or not it is value for money; so although lower prices should boost sales, firms must beware of ruining their image for quality.
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Figure 5.1 Logic chain: impact of price on demand





Prices of other goods


The demand for PS4s is affected not only by the price Sony sets for its console, but also prices set by others. In August 2018, Sony 1 terabyte PS4 models were priced at £100 less than the Microsoft XBox One rival. No wonder XBox market share was slumping (see Figure 5.2). This shows that the two products are substitutes for each other. In other words, they are competitors, where the success of one is at the expense of the other.
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Figure 5.2 Global market share of console hardware
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Table 5.1 Impact on PS4 console sales of price changes by other products





Another factor affecting sales of the PS4 is the price set by software producers for PS4 games. If these rose from £50 each to £70, this would have an effect on sales of Sony PS4 hardware. Some potential Sony customers might look to the XBox One or Nintendo Switch. So PS4 software and PS4 hardware are complementary goods, where sales of one have a positive effect on sales of the other. See Table 5.1 for more detail on this.


Changes in consumer incomes


The British economy usually grows at a rate of about 2.25 per cent a year. This means that average income levels double every 30 years.


The demand for most products and services grows as the economy grows. Goods like cars and cinema tickets are normal goods, for which demand rises broadly in line with incomes. In some cases, it grows even faster; for example, if the economy grows by 3 per cent in a year, the amount spent on foreign holidays can easily rise by 6 per cent. This type of product is known as a luxury good.


Other goods behave differently, with sales falling when people are better off. These products are known as inferior goods. In their case, rising incomes mean falling sales. For example, the richer we get, the more Tropicana we buy and the less Tesco orange squash. As orange squash is an inferior good, a couple of years of economic struggle (and perhaps more people out of work) would mean sales would increase as people switch from expensive Tropicana to cheap squash.


Fashion, tastes and preferences


This category contains some quite different influences upon demand. Fashion is difficult to manage because, by definition, the term implies that what goes up must come down. Very few brands stay in fashion for ever. It was the huge height of the fashion for FCUK that made the logo unwearable once consumer taste had moved on. French Connection suffered seven lean years after that happened.


Yet some brands do seem to be eternally fashionable, such as Chanel, Jack Daniels and Nike. This adds value to the brand and therefore allows higher prices to be charged, and higher profits to be made.


Consumer tastes and preferences can be fickle, but in many markets there is a core of stability that helps companies feel confident about ongoing demand. A good example is the demand for fitness club/gym membership. Yes, it may suffer a bit during a recession, but the ongoing consumer preference for this expenditure has been proven over several decades.


For an example of the fickle consumer, one need look no further than food and drink. Egged on by TV programmes and social media wanting ‘a story’, tastes lurch from ‘no carb diets’ to ‘low-cal foods’ and back again. Meat can be good (protein) or bad (fat) and orange juice has a similarly schizophrenic existence. For the producer, stable demand is the desirable state of affairs, but oh-so hard to achieve.


‘There is only one boss. The customer. And he can fire everybody in the company from the chairman on down, simply by spending his money somewhere else.’


Sam Walton, founder of Walmart


Advertising and branding


In 2017, the meat snack Peperami was backed by a million pound advertising campaign on ITV, Sky, Channel 4 and 5. Over the year sales of the brand rose by 12.9 per cent. Unsurprisingly, advertising spending can boost demand.


In the long run, branding is more important than advertising. If the brand is one that the consumer finds memorable, can identify with and may even be proud to be associated with, the payback to the brand owner can be huge. In its 2018 rankings of global brands, Forbes magazine placed Apple as Number 1, with a brand value of $183 billion (Table 5.2). The value of a brand is its ability to command a higher price for products and to achieve high levels of customer loyalty.


Demographics


Demographics breaks down population data – for example, by age, ethnic origin or gender. In the UK market for yoghurt, two of the top ten brands are focused on children: Petits Filous (sales of £79 million in 2017) and Munch Bunch (£36.3 million in 2017). Demographically based brands such as these transformed demand in the yoghurt market. In 1970, the UK market consisted solely of plain, unsweetened yogurt in glass jars – and sales were just £5 million. Today’s UK market is worth £2000 million.
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Table 5.2 Ranking of global brands, 2018





Today, the most exciting area for demographic opportunity is old people. Figure 5.3 shows the growth to come in this age group. A glance at daytime TV shows the huge range of products and services in this category.
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Figure 5.3 UK population by age category (Source: ONS projections for England)





External shocks


Most businesses will have to face some kind of external shock on a fairly regular basis. In south Nottingham, work building a new tram system closed down a series of roads for months. Some shop owners in the Clifton district suffered falls in demand as high as 40 per cent for a six-month period. Some boarded-up shops show the impact of this on cash flow. In fact, businesses that survive this period may find trade improves as a result of a glossy new tram system. But if you run out of cash, the future becomes irrelevant.


Among many potential causes of external shock are:





•  natural disasters, such as flooding (UK) or earthquakes (many other parts of the world)



•  a change in the law, such as the 2017 introduction of a sugar tax on soft drinks



•  an unexpected change of mind by a major customer or supplier, such as Iceland Food Stores dropping palm oil from all own-label products.





Seasonal factors


Most firms experience significant variations in sales through the year. Some markets, such as ice cream, soft drinks, lager and seaside hotels, boom in the summer and slump in the winter. Other markets, such as sales of perfume, liqueurs, greetings cards and toys, boom at Christmas. Other products with less obvious seasonal variations in demand include cars, cat food, carpets, furniture, TVs and newspapers. The variation is caused by patterns of customer behaviour and nothing can be done about that. A well-run business makes sure that it understands and can predict the seasonal variations in demand; and then has a plan for coping.


5.3 Demand risks


There are two situations that every manager should beware of: undiversified demand and overtrading.


Undiversified demand


When Andrew and Debbie Keeble won a £5 million order from Tesco for their Heck sausages, they were thrilled. But it meant that Tesco accounted for 75 per cent of all the brand’s sales. This put the small business in a very vulnerable position. It had to create the production capacity to meet the orders, but that might leave them with impossibly high costs if Tesco decided to cancel. Similar problems of undiversified demand occur when a business is dependent on just one product (think ‘loom bands’ as a craze that came and went).


The answer is to try to diversify – that is, to spread risk by finding new sources of demand and therefore being less reliant upon any single source.


Overtrading


Sometimes small businesses grow so fast that they struggle to generate enough cash to meet rising bills due to rising production levels. The problem is that meeting next month’s higher demand levels requires extra cash spent today (more materials and components, more staff and so on). Overtrading means running so fast that the cash position is on a knife edge, probably at the overdraft limit. That is risky. The topic of overtrading is dealt with in more depth in Chapter 28.


5.4 Demand – evaluation


The cleverest judgements to be made in business come from the ability to separate what is from what could be. For 20 years, Britain’s Financial Times (business) newspaper was priced at £1 – a small premium to the other ‘quality’ papers The Times and The Guardian. Then, within a 3-year period the price of the Financial Times was increased until – at £2.50 – it became treble the price of its rivals. Astonishingly, sales were virtually unaffected. Those who wanted an economics and business-focused paper had nowhere else to go. A clever executive had spotted the opportunity to make considerably more profit from the paper. Such good judgement is based upon sound understanding of market demand; that is, a really fine understanding of what customers think, feel and want.
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5.5 Workbook


Revision questions


(35 marks; 35 minutes)





1  Demand up or down?








a)  When a substitute good cuts its prices.


(1)



b)  When a complementary good increases its prices.


(1)








2  The giant Procter & Gamble cut its 2014 spend on UK advertising by 9 per cent and switched spending away from TV towards social media. UK sales in 2014 were flat, meaning a slight fall in volume terms. What does this imply about the effect of marketing spending upon demand?


(5)



3  In your own words, explain the term ‘inferior good’ and give your own example.


(3)



4  How might demand for UK hotel rooms be affected by a sharp economic downturn in America?


(4)



5  Outline three conclusions the chief executive of Tesco might draw from the following United Nations’ population forecasts.


(6)
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6  Use your knowledge of one of the following to explain the two factors you believe are the most important in determining the demand for:








a)  Arsenal season tickets



b)  Vittel bottled water



c)  Vogue magazine



d)  KitKat four-finger pack.


(4)








7  Suggest one way in which a business could try to estimate the future demand for its brand new product.


(3)



8  Assess two possible reasons for the boost to demand outlined in the following quote from Dundee FC website:


(8)





‘The Club has been bowled over with the sales of season tickets to date, with an incredible increase of 150 per cent on the same period last year. The Manager and Board of Directors have been delighted by the level of both renewals and new sales … with 40 per cent of sales being either previously lapsed season ticket holders or supporters buying for the first time.’


Data response


Factors affecting demand for breakfast cereals


Over recent years, many factors have affected the UK market for breakfast cereals. The single most important is probably health – or the perception of health. Between 2007 and 2013, the market grew £240 million by value – with almost all the gains going to existing and new brands perceived to be healthy. But all those gains were lost by 2017, as worries about sugar took a greater hold. In 2007, Kellogg’s Special K’s focus on dieters made it seem healthy, yet its sales halved between 2013 and 2017. In 2013, Weetabix, oat-based products and mueslis had the winning formula, which they held onto between 2013 and 2017. Weetabix is the UK’s Number 1.


A second influence was a government decision in 2008 to prevent cereal producers from advertising children’s brands in children’s TV slots. This had little immediate effect on sales, but slowly hurt brands such as Sugar Puffs and Frosties. (NB ‘healthy’ Alpen has more calories per 100 grams than Frosties, but marketing is about perceptions, not realities.)


One other factor has been hugely important to this market – the continuing move away from sit-down breakfasts towards breakfasts on-the-go. In some ways, the producers can capture this change through cereal bars, but once out of the house, school children in particular may end up buying crisps and an energy drink rather than cereal. In 2017, the market for breakfast cereal fell in volume terms for the fifth straight year.


The final issue has been the growth of Aldi and Lidl. This has hit branded manufacturers by forcing them to fight harder with promotional pricing, thereby lowering profit margins. In 2017, more than half of all breakfast cereal was bought on special offer.


Table 5.3 shows the actual UK sales figures recorded each year by The Grocer magazine. Weetabix is number 1 and Quaker’s Oat So Simple has overtaken Special K to become number 2.
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Figure 5.4 Annual UK breakfast cereal sales (Source: The Grocer)





Questions (30 marks; 35 minutes)





1  Special K’s sales have fallen significantly between 2007 and 2017. Explain two factors that may have caused this.


(4)



2  Assess two factors that may have affected the demand for Alpen between 2007 and 2013.


(8)








3  a)  Calculate the market share for Frosties (to two decimal points) in 2007 and again for 2017.


(2)








b)  Explain why this information might be important to Kellogg’s, owners of the Frosties brand.


(4)








4  From the information provided and your wider knowledge, evaluate two factors that might affect the total market size for cereals over the coming 12 months.


(12)
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*The figures are in current prices, i.e. they have not been adjusted for inflation.


Table 5.3 UK sales figures: breakfast cereals, 2007–2017 (Source: The Grocer)
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6 Supply
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DEFINITION


‘Supply’ is the quantity of a product that producers are able to deliver within a specific time period.
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6.1 Introduction


If demand can be visualised as customers filling up their supermarket trolleys, supply is the huge truck unloading at the back of the store. If the truck is from Warburtons, the delivery is the end of a supply chain that started with raisins drying in Turkish fields and flour milled in Canada. From the customer’s point of view, they probably do not care about the complexities of sourcing the ingredients and producing the goods. They just want the right quantities of the right products to turn up on time – and with the right prices on the bill. Not many people think about supply.


‘Only recently have people begun to recognise that working with suppliers is just as important as listening to customers.’


Barry Nalebuff, US business author
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Figure 6.1 Logic chain: benefits of buoyant supply





6.2 What should firms supply?


In some cases, this is an easy question to answer. When Fulham play Stoke, the 26,000 seats will provide more than enough supply. The ticket office will sell to whoever is willing to pay the price. The available supply will be 26,000; the demand may be around 20,000, leaving a surplus of 6000.


In other cases, the supply may be harder to plan for. A farmer planting a field with apple trees knows that the first fruit crop will begin in two to five years’ time. So the actual supply in three years’ time is very uncertain. This is important because the big supermarket chains will only deal with suppliers who promise to deliver the right quantity at the right time.


Profit-focused firms will want to supply at the level that makes as a high a profit as possible. This is known as the profit-maximising point. In the example shown in Table 6.1, the profit-maximising point occurs when the business supplies 40,000 units per week.
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Table 6.1 Example to show the profit maximising point for a business





6.3 Factors leading to a change in supply


Changes in costs of production


Changes in costs of production include the cost of materials, rent, fuel, salaries and advertising. The higher the costs, the lower the incentive to supply. This is because the higher the costs, the lower the profit per unit. Of course, if all your competitors face the same cost increases, you may not worry. You may simply assume that if everyone puts their prices up, market share figures should remain unchanged.


Introduction of new technology


This could have a significant effect on production costs and efficiencies. Figure 6.2 shows the dramatic rise in recent business purchases of industrial robots (especially from China). Robots can have a direct impact on labour productivity and therefore costs per unit. A big increase in the supply of robots can lower production costs and also help to boost production capacity. Therefore, supply is not only cheaper but also more plentiful.
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Figure 6.2 Global sales of industrial robots (Source: World Robotics Report, IFR Statistical Department)





Indirect taxes


Indirect taxes are taxes levied by government on goods and services. The most widespread one in the UK is the 20 per cent rate of VAT put onto most goods and services (though not food). Another indirect tax is ‘duty’ – special taxes put onto things the government believes to be socially undesirable, such as alcohol and petrol. If the government decided to increase the duty on petrol, this would add to the cost of supply. Therefore, oil companies would wish to supply less petrol to the market. This would push the price up.


Government subsidies


The reverse of taxation is subsidy, that is a government hand-out to a supplier such as a farmer. This is when the government wants to promote supply and therefore gives businesses a financial contribution towards supply. Even though farming is less than 0.7 per cent of UK national output, farmers receive £3 billion a year in subsidies. And the Hinckley Point nuclear power station is being subsidised by as much as £30 billion. Subsidies encourage extra supply.


External shocks


In May 2018 the BBC reported that the price of vanilla had become more expensive than silver. At around $600 per kilo, ice-cream makers had to decide whether to carry on using real vanilla or switch to artificial alternatives. For those wanting to keep their recipes unchanged, the price of vanilla was a serious shock.


Other possible external shocks


A natural disaster, such as a flood or earthquake, can disrupt supply lines, causing particular problems for manufacturers or retailers who choose to carry very low stocks; inevitably a supply shortfall leads to price rises.


Physical constraints


Early in 2018, KFC branches suddenly put up closed signs. They had no chicken. A bungled switch to a new, cheaper distribution company left fresh chicken in warehouses – not in the KFC outlets. Without physical supplies there was nothing to be done but close the shops. McDonald’s must have been very happy.


‘When you went into a Boston Chicken and ordered a quarter chicken, white, with mash and corn, when that was rung up it would signal all the way along the supply chain the need for more potatoes to be put on a truck a thousand miles away.’


Stephen Elop, Vice President, Microsoft


6.4 Drawing a supply curve


A supply curve can be drawn to show how supply increases when customers are willing to pay more for the product. In the example shown in Figure 6.3, companies are willing to supply 20,000 tonnes when the price is $4000. If the price were to rise further, to $6000, suppliers would be delighted to offer 30,000 tonnes of supply.


The supply curve is drawn on the assumption that suppliers can respond quickly to changes in demand. This would be possible if plenty of the product was kept in storage, or if the production process is speedy and flexible enough to be increased at will.
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Figure 6.3 A supply curve





6.5 Supply – evaluation


When considering supply factors, timescale is a hugely important issue. In the short term, companies can vary supply only up to the limit of their maximum production capacity. In the longer term, they can build new factories or buy in new, faster machinery, but only if they are sure that demand will stay high. One of the reasons the UK economy slowed down in the lead-up to the Brexit date of 2019 was that company investment spending stayed exceptionally low. Companies were too uncertain to invest in extra supply. Even if Brexit would eventually be a success, the short-medium outlook was very uncertain. So when there is a question on supply, every answer should clarify the timescale involved – short term or long term.
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6.6 Workbook


Revision questions


(30 marks; 30 minutes)





1  Explain why a fall in supply increases price.


(4)



2  How might a rise in the national minimum wage affect the supply of goods in the UK?


(3)



3  Identify two possible physical constraints that could stop a railway company from completing engineering works on time.


(2)



4  Consider the following.








a)  Draw a supply curve for Cadbury Creme Eggs, based on the data shown in Table 6.2.


(5)



b)  Why might Cadburys be unwilling to supply any Creme Eggs at a price of 20p each?


(2)








5  Use your knowledge of one of the following to explain the two factors you believe are the most important in determining the supply of:
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Table 6.2 Data for Cadbury Creme Eggs








a)  Arsenal season tickets



b)  Vittel bottled water



c)  Vogue magazine



d)  KitKat four-finger pack.


(6)








6  China produces half the world’s steel. Explain the implications of this for suppliers of iron ore to China.


(4)



7  Explain how a government fish subsidy might affect the supply of cod to UK consumers.


(4)





Data response


Butter prices churned


There has been a shortage of it on French supermarket shelves, while its price in countries from the UK to Australia has been climbing for much of the year. Having started the year at €4450 a tonne, by September 2017 the price of butter reached €7000. Milk supply shortages across Europe were pushing prices up. As a result, supermarket butter prices rose by a fifth. The origins of the supply squeeze reflect the worldwide dairy glut of 2014–2015. The fall in prices that followed forced dairy farmers to cull their herds last year, while others went out of business. Milk production in the world’s big exporting countries fell in 2016 and only recovered in the second quarter of this year. In Europe, herd levels have been slow to recover in Germany and France, while the number of dairy cows in Holland has been curtailed by environmental regulations.


While newspapers wrote anxiously about high butter prices, one commentator suggested that people should trust in the old adage: ‘The cure for high prices is high prices’.


Although rising butter prices have restrained demand, there are still reasons why consumption could return. Demand for butter has risen after doubts about the link between butter and heart disease. Publicity over the health effects of some vegetable oil-based spreads has also prompted a switch back to butter. In the US consumption per person has grown 16 per cent since 2010 in a shift back to natural products. Rising demand and weak supply have had an inevitable effect on butter prices.


Questions (20 marks; 25 minutes)





1  Explain the meaning of the adage: ‘The cure for high prices is high prices’.


(4)



2  Use a supply and demand diagram and the text to explain why butter prices rose by 20 per cent between January and September 2017.


(8)



3  Assess what UK farmers might learn from these variations in milk production and prices.


(8)
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7 Markets and equilibrium





[image: ]


DEFINITION


Equilibrium is the point where there is a balance between supply and demand; this makes the price stable (though, if demand was high enough, the equilibrium point might be at a very high price).
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7.1 Introduction


In markets where products are differentiated from each other, perhaps by branding, prices are set by producers. The price of Chanel No 5 perfume (£98 for a tiny 7.5ml bottle) is set by Chanel. But in some important markets there is no product differentiation. Food and drink producers around the world need to buy sugar and coffee. They buy it by the tonne at the world’s market price. At the time of writing, sugar is about 25p per kilo, whereas coffee is about £2.20 per kilo. In commodity markets, the price is determined by market forces – that is, supply and demand. The price that pulls demand to the same point as supply is the equilibrium price.


‘Markets reduce everything, including human beings and nature, to commodities.’


George Soros, billionaire financier


7.2 Drawing a demand curve


A demand curve can only be drawn after gathering evidence about the likely level of sales at different prices. If you had the rights to a one-off ‘Evening with J.K. Rowling’, in which Harry Potter’s creator was to speak for the first time about ‘Harry’s Greatest Adventure’, what would you charge for the tickets? Ideally, you would try to work out what the demand would be at different prices (see the demand curve shown in Figure 7.1). Then you could find out the cost of hiring differently-sized venues, to create a supply curve. From that, you would be able to work out the most profitable combination of price and demand.


The graph shown in Figure 7.1 is based on (assumed) research findings given in Table 7.1.
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Table 7.1 Research findings of demand for tickets
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Figure 7.1 Demand curve for J.K. Rowling tickets





Once the curve has been drawn up, you can use it to work out, for instance, the right price to charge if you hire the City of Manchester Stadium, which would be able to seat 35,000 people for the evening ‘show’.


‘Buy land, they ain’t making any more of it.’


Will Rogers, early twentieth-century Hollywood legend



7.3 Interaction of supply and demand


In the above example, if you found that there were three venues in Manchester capable of holding this level of audience (including Manchester United football stadium, which could easily take 40,000), you could draw a supply curve on the same graph as the demand curve.
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Figure 7.2 Supply and demand curves for a one-off evening with J.K. Rowling





Figure 7.2 shows that the most sensible outcome would be to hire the City of Manchester stadium and price the tickets at £68 in order to fill the 35,000 seats. The price at which supply equals demand is known as the market price.


The interaction of supply and demand is an important factor in many business decisions. In this case, the focus is on the price of tickets. Globally, the world oil price has an enormous effect on businesses. This is also determined by supply and demand. In early 2008, tight oil supplies plus booming demand from China pushed the world oil price up to $120 per barrel (quadruple the figure from three years before). By 2018, higher supplies had eased oil prices back to around $70 per barrel.


‘The market has no morality.’


Michael Heseltine, businessman and Conservative politician


Table 7.2 shows the impacts of different supply and demand conditions on the price of oil (or any other commodity).
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Table 7.2 The impacts of different supply and demand conditions on price
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Real business


A torn 50p ticket to see the Rolling Stones at Reading Town Hall in 1963 had been gathering dust in the back of a drawer. Turning it over, the owner saw (and had forgotten about) the signatures of the five original band members. It was put up for auction at Bonhams in June 2014. Demand was high enough for this rare item to be sold for £850.
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Figure 7.3 The Rolling Stones in concert in the 60s





Q. Explain how a 50p item can be worth £850.
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7.4 Supply and demand in practice


A well-run business is sensitive to demand. Its managers realise that demand is a complex, ever-changing factor. Running a hotel is a good example. Demand for hotel rooms is weakest on a Sunday night, so room rates are at their lowest. For city centre hotels, Saturdays are a good night for bringing in wealthy night-clubbers, and business customers from Tuesday to Thursday are also ‘money-spinners’. Look at the room rates shown in Table 7.3 for a Leeds hotel in October 2018.
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Table 7.3 Room rates for a Leeds hotel in November 2018 (Source: www.laterooms.com. Hotel: Hilton, Leeds City)





What the room prices show is a business that is tuned into its customers well enough to know that the rates need to be different on different days.


Most businesses not only face daily sales variations but also seasonal ones. Carpet and furniture sales rise in the spring, as people see the wear and tear more clearly in the spring sunshine. Swimwear and holiday sales peak in the summer, while toy and perfume businesses can take 50 per cent of their year’s sales in the five weeks leading up to Christmas. Businesses that are close to their customers make sure that seasonal sales cause no surprise.


The key to meeting varying demand is to anticipate it by varying supply. The toy shop buys in extra supplies and hires extra, temporary staff in September. The stock is in place and the staff are trained comfortably before the Christmas rush. Cadbury starts making pre-Easter Creme Eggs from the summer of the previous year to ensure that plenty of stock is available for the amazing peak sales of this major UK brand.
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Figure 7.4 Demand and supply of apples





7.5 Markets and equilibrium –evaluation


In theory, markets stabilise at an equilibrium price. High prices pull forward more supply, which brings price back down again. And when prices are low, demand rises (and supply falls), which pulls prices back up again. This is why government should not need to intervene if the price of wheat or pork shoots up – the market will sort it out.


Unfortunately, there is an exception to this – and that is the human factor. Markets are governed by people’s decisions, and when prices rise, speculators see opportunities. Some of those speculators are wealthy householders, seeing opportunity in rising house prices and therefore trying to buy a second house. Others are professional traders, wanting to make a profit today from a possible price rise in wheat tomorrow. When speculators get involved, high prices can attract more demand rather than less. There is then a risk of a speculative bubble, which can ultimately lead to a crash when the bubble bursts. That was the problem in 1929 and in 2008/9. History suggests that the phenomenon will inevitably happen again – but it doesn’t point to when.
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7.6 Workbook


Revision questions


(35 marks; 35 minutes)





1  Choose one of the following terms, and explain what it means:








a)  stock market



b)  labour market



c)  foreign exchange market.


(4)








2  State the probable impact on price of:








a)  falling demand, while supply remains unchanged



b)  rising supply at a time when demand is unchanged



c)  rising demand at a time of falling supply.


(3)








3  When a shortage of Ed Sheeran tickets allows touts to charge £400, only wealthy people can get to the concerts. Most people would not worry about this. But why might people be concerned about a high ‘market price’ if there was a shortage of water at a time of drought?


(4)



4  Explain why the price of a hotel room might be high on a Wednesday night.


(4)



5  Consider the following.








a)  Draw supply and demand curves for oranges, based on the data shown in Table 7.4.


(5)



b)  Why may orange growers be unwilling to supply any oranges at 10p each?


(2)
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Table 7.4 Market data for oranges








6  Explain how market movements might ensure that a sharp rise in the price of apples proves temporary.


(4)



7  Examine Figure 7.2 (supply and demand for J.K. Rowling in Manchester) on page 35 and answer the following:








a)  Why is £68 the right price to charge for the tickets?


(4)



b)  What would the effect be of setting a price of £80 for the tickets?


(5)





Data response


Supply, demand and the entrepreneur


By the edge of Lake Victoria, Tanzania, is a village with 2000 people. It is poor, but has its own fishing boats, boatbuilder, vegetable field and (tiny) street market. The villagers work together, but individuals can keep any money they make. One villager, Pembo, noticed that – year after year – the villagers planted tomatoes in the ideal growing conditions of the rainy season.


But when the tomatoes were ripe, the price in the local market town was too low to make a profit. Fewer people wanted to buy them (they grew their own) and far more growers brought tomatoes to the marketplace.


So Pembo marked out a large patch of sandy earth by the side of the lake and sowed tomato seeds in August. As the rainy season was over, he had to water by hand. Every day he spent hours collecting water in a bucket from the lake and watering each plant. He marked his patch out carefully and replanted each seedling to give it the space to grow. He tied them, tended them and eventually was able to harvest them and take them to the market. Whereas the villagers’ tomatoes usually fetched $2 per bushel, Pembo’s made $5. As he had done all the work himself, the villagers accepted that he kept all the money: this proved to be just over $100 for two months’ work (about six times the average income). He used the $100 to buy a second-hand motorbike with a trailer.
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Figure 7.5 Pembo growing tomatoes near Lake Victoria





Others in the village soon copied the method for growing tomatoes, though Pembo was already onto his next idea. He paid two 12-year-olds to look after his own patch, while he talked to a hotel in the Serengeti National Park about supplying all their fruit and vegetables.


Questions (40 marks; 40 minutes)





1  Assess two possible motives for Pembo’s business start-up.


(8)



2  Assess the understanding of supply and demand shown in Pembo’s start-up of his tomato patch. Use a diagram to aid your answer.


(10)



3  Assess whether this business idea of out-of-season tomato growing will continue to succeed.


(10)



4  Assess whether Pembo is likely to prove a really successful businessman in the longer term.


(12)
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8 Price elasticity of demand





[image: ]


DEFINITION


Price elasticity measures the extent to which demand for a product changes when its price is changed.
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8.1 Introduction


When a company increases the price of a product, it expects to lose some sales. Some customers will switch to a rival supplier; others may decide they do not want (or cannot afford) the product at all. Economists use the term ‘the law of demand’ to suggest that, almost invariably:
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Figure 8.1 The law of demand





Price elasticity looks beyond the law of demand to ask the more subtle question: ‘When the price goes up, by how much do sales fall?’ Elasticity measures the extent to which price changes affect demand.


8.2 Price elasticity of demand


In the short term, the most important factor affecting demand is price. When the price of Sheba cat food was increased by 5 per cent in 2017 its sales volumes fell by 10 per cent. The cut in sales outweighed the rise in price leaving the business worse off.


The crucial business question is: how much will demand change when we change the price? Will demand rise by 1 per cent, 5 per cent or 25 per cent following a 10 per cent price cut?


Some products are far more price sensitive than others. Following a 5 per cent increase in price, the demand for some products may fall sharply, say by more than 20 per cent. The demand for another type of product may fall by less than 1 per cent.
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Figure 8.2 The impact of a 10 per cent price rise on sales





Price elasticity can be calculated using the formula shown below:
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Price elasticity measures the percentage effect on demand of each 1 per cent change in price. So, if a 10 per cent increase in price led to demand falling by 20 per cent, the price elasticity would be 2. Strictly speaking, price elasticities are always negative and therefore the actual figure is −2. This is because a price rise pushes demand down, and a price cut pushes demand up. The figure of −2 indicates that, for every 1 per cent change in price, demand will move by 2 per cent in the opposite direction.


8.3 Determinants of price elasticity of demand


Why do some products, services or brands have low price elasticity of demand and some high elasticity? Why is the price elasticity of demand for Branston Baked Beans higher than that of Heinz Baked Beans? Or the price elasticity of demand for the Financial Times as low as −0.05 while the price elasticity of demand for Look magazine is as high as −2.0 (that is, 40 times higher)?
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Figure 8.3 It may be more difficult for readers of the Financial Times to find an alternative.





The main determinants of price elasticity are as follows.


The degree of product differentiation


This is the extent to which customers view the product as being distinctive from its rivals. Look may be an excellent magazine, but it is offering the same mix of fashion, shopping and ‘celebs’ as many other magazines aimed at young women. So if the cover price is increased, it is easy for readers to switch to an alternative, whereas readers of the Financial Times do not have any other options. Therefore, the higher the product differentiation, the lower the price elasticity of demand.


The availability of substitutes


Customers may see 7Up and Sprite as very similar drinks. In a supermarket, they may buy the cheaper of the two. At a cinema, though, only Sprite may be available. At a train station vending machine, almost certainly Sprite will be the only lemonade. This is because it is a Coca-Cola brand and the company’s distribution strength places Sprite in locations where 7 Up never goes. When Sprite has no direct competition, its price elasticity is much lower; therefore, the brand owner (Coca-Cola) can push the price up without losing too many customers.


Branding and brand loyalty


Products with low price elasticity of demand are those that consumers buy without thinking about the price tag. Some reach for Coca-Cola without checking its price compared with Pepsi, or buy a Harley-Davidson motorcycle even though a Honda superbike may be £4000 cheaper. Strong brand names with strong brand images create customers who buy out of loyalty.
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Real business


Boosting revenue


When the Telegraph newspaper increased its price from £1 to £1.20, its daily sales fell by 4 per cent, from 604,000 to 579,000 copies per day. This caused the following effect on daily revenue:





•  Before price rise: price £1 × sales volume 604,000 = £604,000.



•  After price rise: price £1.20 × sales volume 579,000 = £694,800.





That is, sales revenue rose by £90,800 per day, a 15 per cent increase. As the slight fall in sales volume would reduce total variable costs, the impact on profit would have been even greater.


Q. Calculate the impact on profit if the variable costs were 20p per unit.
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8.4 Classifying price elasticity


Price-elastic demand


A product with price-elastic demand has a price elasticity of above 1. This means that the percentage change in demand is greater than the percentage change in price that created it. For example, if a firm increased prices by 5 per cent and as a result demand fell by 15 per cent, price elasticity would be:
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The higher the price elasticity figure, the more price elastic the demand. Cutting price on a product with price-elastic demand will boost total revenue. This is because the extra revenue gained from the increased sales volume more than offsets the revenue lost from the price cut. On the other hand, a price increase on a product with price-elastic demand will lead to a fall in total revenue.


Price-inelastic demand


Products with price-inelastic demand have price elasticities below 1. This means the percentage change in demand is less than the percentage change in price. In other words, price changes have hardly any effect on demand, perhaps because consumers feel they must have the product or brand in question: the stunning dress, the trendiest designer label or – less interestingly – gas for central heating. Customers feel they must have it, either because it really is a necessity or because it is fashionable. Firms with products with price-inelastic demand will be tempted to push the prices up. A price increase will boost revenue because the price rise creates a relatively small fall in sales volume. This means the majority of customers will continue to purchase the brand but at a higher, revenue-boosting price.
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Table 8.1 Summary of price elasticity of demand





8.5 The value of price elasticity to decision makers


Being able to estimate a product’s price elasticity of demand is a hugely valuable aid to marketing decision-making. At West Ham United, ticket prices for under-16s vary, from £70 in top seats for top games such as Manchester United, all the way down to £1 when trying to fill the stadium against less attractive opposition on midweek winter evenings. Unusually for a business, the objective is to fill the stadium rather than maximise revenue. Understanding the price elasticity of demand (PED) for junior tickets helps West Ham achieve an average capacity utilisation of 95 per cent or more. A business that knows its price elasticity can make better decisions than one that is in ignorance.


Data on a product’s price elasticity of demand can be used for two purposes, as outlined below.


Sales forecasting


A firm considering a price rise will want to know the effect the price change is likely to have on demand. Producing a sales forecast will make possible accurate production, personnel and purchasing decisions. For example, when Nintendo cut the price of its Wii U by 15 per cent, sales rose by 75 per cent. So, the price elasticity of the Wii U proved to be:
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Nintendo could then use that knowledge to predict the likely impact of future price changes. Another price cut of 10 per cent could lead to a sales increase of 50 per cent (−10% × −5 = +50 per cent). This information can be passed on to operations and HR, to get the staff in place to produce 50 per cent more stock.


Pricing strategy


There are many external factors that determine a product’s demand, and therefore its profitability. For example, a soft drinks manufacturer can do nothing about a wet, cold summer that causes sales and profits to fall. However, the price the firm decides to charge is within its control, and it can be a crucial factor in determining demand and profitability. Price elasticity information can be used in conjunction with internal cost data to forecast the implications of a price change on revenue.


8.6 Strategies to reduce price elasticity


All businesses prefer to sell products with price-inelastic demand. Charging more for a price-inelastic product guarantees an increase in short-term profit. If a firm has price-elastic products, it will always feel vulnerable, as a rise in costs may be impossible to pass on to customers. And if a firm is tempted to cut the price of a product with price elastic demand, sales will probably rise so sharply that competitors will be forced to respond. A price war may result.


It is important to realise that a product’s price elasticity of demand is not set in stone. Price elasticity is not an external constraint. The most important influence on a brand’s price elasticity of demand is substitutability. If consumers have other brands available that they think deliver the same benefits, price elasticity will be high. So, to reduce a brand’s price elasticity of demand, the firm has to find ways of reducing the number of substitutes available (or acceptable). How can this be done?


Increasing product differentiation


Product differentiation is the degree to which consumers perceive that a product is different (and preferably better) than its rivals. Some products are truly different from others, such as Cadbury Dairy Milk, with its distinctive taste. Others are successfully differentiated by image, such as Versace Jeans or Coca-Cola. Wearing Versace Jeans makes a statement about the wearer, even if the cloth itself is no different from that used by Levi’s or Wrangler.


Reducing the competition


One way to reduce price elasticity is to eliminate competition. This might be done through predatory pricing: a deliberate attempt to force a competitor out of a market by charging a low, loss-making price. The reduction in the number of substitutes available allows the predator to raise its prices. If there are no cheaper substitutes available, the customer is forced to pay the higher prices or go without. The same effect can be achieved by takeover bids (for example, the purchase by Adidas of Reebok footwear).
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Figure 8.4 Logic chain: lowering price elasticity





8.7 Price elasticity of demand – evaluation


For examiners, elasticity is a convenient concept. It is hard to understand, but very easy to write exam questions on! But how useful is it in the real world? Would the average marketing director know the price elasticities of his or her products?


In many cases, the answer is no. Examiners and textbooks exaggerate the precision that is possible with such a concept. The fact that the price elasticity of the Nintendo Wii U was once −5 does not mean it will always be. Price elasticities change over time, as competition changes and consumer tastes change.


Even though elasticities can vary over time, certain features tend to remain constant. Strong brands such as BMW and Coca-Cola have relatively low price elasticity. This gives them the power over market pricing that ensures strong profitability year after year. For less established firms, these brands are the role models: everyone wants to be the Coca-Cola of their own market or market niche.
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8.8 Workbook


Revision questions


(35 marks; 35 minutes)





1  a) If a product’s sales have fallen by 21 per cent since a price rise from £2 to £2.07, what is its price elasticity of demand?


(4)








b)  Is the demand for the product price elastic or price inelastic?


(1)








2  Outline two ways in which Nestlé could try to reduce the price elasticity of its Aero chocolate bars.


(4)



3  A firm selling 20,000 units at £8 is considering a 4 per cent price increase. It believes its price elasticity is −0.5.








a)  Calculate the effect on revenue.


(6)



b)  Outline two reasons why the revenue may prove to be different from the firm’s expectations.


(4)








4  Explain three ways a firm could make use of information about the price elasticity of demand of its brands.


(6)



5  Identify three external factors that could increase the price elasticity of demand of a brand of chocolate.


(3)



6  A firm has a sales target of 60,000 units per month. Current sales are 50,000 per month at a price of £1.50. If its products have a price elasticity of demand of −2, what price should the firm charge to meet the target sales volume?


(5)



7  Why is price elasticity always negative?


(2)





Data response 1


Pillowcases for Reds


A firm selling Manchester United pillowcases for £10 currently generates an annual turnover of £500,000. The marketing director is considering a price increase of 10 per cent.


Questions (15 marks; 20 minutes)





1  Given that the price elasticity of demand of the product is believed to be −0.4, calculate:








a)  the old and the new sales volume



b)  the new revenue.


(7)








2  If the firm started producing mass-market white pillowcases, would their price elasticity of demand be higher or lower than the Manchester United ones? Explain your reasoning.


(8)





Data response 2


Sauces and sources


Heinz Tomato Ketchup is an iconic brand, more than 100 years old. It dominates the market for ketchup with annual sales of £125 million in the UK. It has a share of UK tomato sauce sales believed to be over 75 per cent. It has no effective branded competition, though sales of supermarket own-label ketchups can be considerable.


In 2013, it took a risk by increasing its prices by 10 per cent, even though the average price increase for ‘table sauces’ was only 3.5 per cent. The result was a 5 per cent fall in Heinz sales volumes.


Heinz says that the major growth stories in table sauces come from more exotic flavours, such as Mexican Chilli and Heinz Sweet Chilli. Perhaps this increased competition explains the collapse in sales of Levi Roots’ Reggae Reggae Barbeque Sauce, which suffered a 17 per cent fall in 2013 sales volumes following a price rise of 8.5 per cent. Table 8.2 sets out the full story (sources for the whole story: The Grocer and Mysupermarket.com).
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Table 8.2 Reggae Reggae Sauce sales, 2012 and 2013 (Source: The Grocer)
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Figure 8.5 Heinz Tomato Ketchup
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Figure 8.6 Reggae Reggae Sauce





Questions (34 marks; 35 minutes)





1  a)  Calculate the price elasticity of demand for Heinz Tomato Ketchup in 2013.


(4)








b)  Assess two reasons why this product may have this degree of price elasticity of demand.


(8)








2  a)  Calculate the price elasticity of demand for Reggae Reggae Sauce in 2013.


(4)








b)  It is believed that the price elasticity of demand for Reggae Reggae Sauce is higher now than in the past. Explain two possible reasons why this might have occurred.


(8)








3  The figures suggest that Heinz Tomato Ketchup has a significantly lower price elasticity of demand than that of Reggae Reggae Sauce. Assess the implications of that for Heinz.


(10)
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9 Income elasticity of demand
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DEFINITION


Income elasticity measures the extent to which demand for a product changes when there is a change in consumers’ real incomes. The shorthand YED is often used for income elasticity of demand.
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9.1 Introduction


Price elasticity focuses on what the business can do to maximise its revenue and profit given the products it has, their differentiation and competitors. Income elasticity starts from a different point. It looks at how a company’s sales will be affected by changes in the economy – that is, changes that are totally outside the company’s control. As shown in Figure 9.1, falling household incomes and confidence at the start of the recession hit UK car sales sharply in 2008 and 2009. A 5 per cent fall in real incomes pushed new car sales down by 15 per cent between 2007 and 2009. This was nothing compared with Italy where car sales halved when austerity measures hit between 2010 and 2012. All car companies could do to survive was to cut production and cut costs (and look to China where car sales were still booming). Even by 2017, car sales in Italy were still below pre-recession levels.
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Figure 9.1 New car sales and the economy (Source www.oica.com)





Income elasticity is important because it shows the direction and the extent to which sales change when real incomes change.


9.2 What is meant by real incomes?


The government’s Office for National Statistics (ONS) provides data each month on the rate of change in average earnings. This is the amount the average employee receives before any deductions for tax or pension contributions. That is their gross income. In June 2018, this figure for average pay was 2.4 per cent higher than the previous year. So, people may have felt 2.4 per cent better off.


Or were they, because in that same period prices (the rate of inflation) rose by 2.3 per cent. So consumers had 2.4 per cent more income, but had to pay 2.3 per cent more for their shopping basket. In effect, then, they were only 0.1 per cent better off.


Real incomes are measured, then, by the formula:
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Another way of expressing this is to say that real incomes are incomes after allowing for inflation.


9.3 Calculating income elasticity of demand


In the recession year of 2009, UK car sales fell by 6 per cent. More expensive, luxury cars were especially hard hit. BMW sales fell 12 per cent, Lexus by 28 per cent and Bentley by 50 per cent! Some cheaper cars actually enjoyed sales increases, with Skoda sales up by 1 per cent and Fiat by 9 per cent. These changes in sales were a consequence of the different income elasticities of demand for these different brands.


Income elasticity is calculated using the formula shown below:
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For example, in 2009 real incomes in the UK fell by 6 per cent. Therefore, the income elasticity of demand for the car market as a whole was:
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So the UK car market proved to have an income elasticity of 1 (meaning a one-for-one relationship between changes in income and changes in demand). The car brands mentioned above had the income elasticities shown in Table 9.1.
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Table 9.1 UK car income elasticities of demand calculated from the 2009 recession year





9.4 Interpreting numerical values for income elasticity


There are three categories a product can be put into:





•  a ‘normal good’, with positive income elasticity of demand, and a YED of between 0.5 and 1.5



•  a ‘luxury’ good, with very positive income elasticity of demand more than 1.5



•  an ‘inferior’ good – that is, one with negative income elasticity of demand (so, as people get better off, they buy less of it, perhaps including orange squash or Asda Value Milk Chocolate).





In the case of the data in Table 9.1, you can see that BMW, Lexus and Bentley are luxury car brands because they each have an income elasticity of demand of more than +1.5. And, clearly, if BMW is a luxury, Lexus is a greater luxury and Bentley is a huge self-indulgence! Note that Bentley’s figure of +8.3 implies that in a year when real incomes rise by 2 per cent, Bentley sales should jump by 2 × 8.3 = 16.6%. In 2016, with the UK economy growing at 1.8 per cent, Bentley sales were up by 15 per cent.


Table 9.1 also shows two ‘inferior’ goods: Skoda and Fiat. Both enjoyed rising sales when the economy worsened. Note here that the term inferior is not a comment on the quality of the item. It is simply a technical term for a product or service that has negative income elasticity.


9.5 Factors influencing income elasticity of demand


Why do some products, services or brands have positive and others have negative income elasticity of demand? And why is the income elasticity for some items strongly positive and for others only slightly positive? The main factors influencing income elasticity are as follows.


Whether the product is a necessity or a self-indulgence


When incomes are rising, people feel happier to splash out on luxuries. Therefore, posh hotels, business-class travel and champagne all enjoy sales booms in good times, but suffer sharp sales declines when real incomes are falling. During the global recession year of 2009, champagne exports from France fell by 28 per cent. So, for luxury products, income elasticities are strongly positive, such as +4. It is important, then, to remember that a figure as high as +4 is wonderful when the economy is healthy, but a huge burden when times are tough.


‘In the affluent society, no useful distinction can be made between luxuries and necessities.’


J.K. Galbraith, great economist and author (The Affluent Society)


By contrast, necessity goods will have low (but, usually, positive) income elasticities of demand. Toilet paper, shampoo and petrol will all tend to have advancing sales when real incomes are rising, but not by much. Sales of toilet paper, for example, seem to have an income elasticity of demand of about +0.5. If households are 2 per cent better off, they spend an extra 1 per cent on toilet paper.


Who buys the product


Some luxury products are bought only by the super-rich. Their incomes may not be affected by a change in ‘average’ real incomes. So although a time of recession may hit sales of £800 handbags from Mulberry, the demand for Hermes or Chanel bags may be unaffected. It is important to measure income elasticity of demand for each individual brand rather than assume that all posh bags are the same.


‘You do not build brand value by saying how cheap you are. You do build brand value by reinforcing how special you are.’


Larry Light, brand consultant


Positive and negative elasticity


When measuring income elasticity, it is crucial to state whether the answer is positive or negative. When real incomes are falling, consumers trade down to where they can find the right value and the right prices for their slimmed-down wallets. When falling incomes lead to a sales boom, the product or service has negative income elasticity.


By contrast, the majority of products and services have positive income elasticity of demand – that is, the better off we feel, the more we spend and buy. Most goods are ‘normal’, in that their income elasticity is about +1, meaning that a 3 per cent rise in real incomes would cause a 3 per cent rise in sales.


9.6 The significance of income elasticity to businesses


Knowing the income elasticity of a product is vital in order to develop a well-balanced product portfolio. Because inferior goods sell well during recessions, it is helpful for a company to have inferior goods as well as luxury goods. Nevertheless, as the UK economy tends to grow at around 2.5 per cent a year in the long term, normal and luxury goods are the most important part of a long-term strategy.


Data on a product’s income elasticity can be used for two purposes, as outlined below.


Sales forecasting


In the 2009 recession, Poundworld was booming. It opened dozens of new branches and forecast a rosy future. In 2018, with the economy in a much more stable position, Poundworld collapsed. Its management should have known that its boom-time was related to bad times, but it believed it would be successful for evermore.


For a company such as Jaguar Land Rover, the expectation of a growing economy would lead to a quite different sales forecast. Rising real incomes would mean higher sales and, therefore, at some stage, higher production capacity and hiring and training new staff.


Financial planning


Once a business can forecast its future sales level, it can start to plan for the financial implications. If sales are likely to boom, higher production will be needed and probably a significant amount of extra funding, perhaps requiring a bank loan or a rights issue (asking existing shareholders to buy extra shares at a discount). If sales look likely to fall, a finance director will know that a trip to the bank would be a mistake. The business will try to find a plan to cut its cash outgoings in order to survive the problem period.
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Figure 9.2 Logic chain: using income elasticity data





9.7 Income elasticity of demand – evaluation


Income elasticity is a hugely important concept because it acknowledges how vulnerable companies can be to changes in the economy. When economic growth is steady, some chief executives forget that bad times can arrive suddenly and unexpectedly. By the time a recession has started, it may be too late to try to find a new product with negative income elasticity. So much cleverer to be Volkswagen, having already acquired Skoda, or Renault, with its low-priced Dacia brand.


Success in business is largely about thinking and planning ahead, allowing long-term strategies to be developed. Just focusing on price elasticity can deceive a boss into thinking s/he has more control over demand than is really the case. Income elasticity is the reminder that demand is, at least in part, a function of forces outside the firm’s control.
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9.8 Workbook


Revision questions


(30 marks; 30 minutes)





1  Calculate the income elasticity of demand for a product that sold 20,000 units in 2008, and 22,400 in 2009, when real incomes in the UK fell by 6 per cent.


(4)



2  For each of the following, explain whether you think the product/service is a normal, a luxury or an inferior good. Make your reasoning clear.








a)  a railway commuter’s return ticket



b)  a trip for the family to Disneyland Paris



c)  a can of Tesco own brand tomato soup.


(9)








3  Are these products normal, luxury or inferior?








a)  Product A: income elasticity −1.5



b)  Product B: income elasticity +4.5



c)  Product C: income elasticity +0.9.


(3)








4  See the quote by Larry Light on page 47. Explain the implications of the quote for the income elasticity of demand for a product or service of your choice.


(5)



5  Explain the circumstances that might lead a product that is a normal good to become an inferior good over a period of two or three years.


(3)



6  Pol Roger champagne sells 10,000 bottles a month in the UK at £30 a time. Its PED is −0.4 and its YED is +6.








a)  Calculate the value of its UK sales next year if real incomes rise by 2.5 per cent.


(3)



b)  Briefly explain how Pol Roger might use the data on its price elasticity of demand.


(3)





Data response


Income elasticity


Figure 9.3 shows the difference between the rise in wages and the rise in prices between 2013 and 2018 – and therefore shows the trends in real wages. In the period from January 2010 to July 2014, Aldi’s share of the UK grocery market rose from 2.8 per cent to 4.8 per cent, while Tesco’s share fell from 30.3 per cent to 28.9 per cent. Look at Figure 9.3 and answer the questions below.


Questions


(24 marks; 30 minutes)





1  Explain what the graph is showing about real wages in the UK between 2013 and 2018.


(4)
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Figure 9.3 Percentage change in earnings compared with prices (CPI). (Source: ONS, August 2018)









2  Assess what the text and diagram imply about the income elasticity of:








a)  Tesco



b)  Aldi (no need for calculations).


(8)








3  In mid-2016, UK households enjoyed a 2 per cent rise in real incomes. In that period, like-for-like sales at discount chain Poundworld fell by 3 per cent, leading the business to make a £5.4 million loss before tax.








a)  Calculate the implied income elasticity figure for Poundworld.


(4)



b)  Assess two possible factors that may have distorted the apparent correlation between Poundworld’s sales and consumers’ real incomes.


(8)
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Section 1.3 Marketing mix and strategy



10 Product and service design
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DEFINITION


Design means finding the right balance between creating something that people desire to have, that they can afford to buy and that works reliably.
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10.1 Introduction to design


The design of a product is not just about its appearance and shape. It is also about the product’s function, quality and durability. Designers work to a design brief, which tells them the criteria for looks, cost and quality. All must be considered in designing the finished product. Larger firms have their own design teams on the payroll. Smaller firms may rely on design consultants to turn a product idea or requirement into a finished product.


Good design adds value to products and can be the key differentiator that marks one brand out from its competitors. No other UK firm has been quite as successful at this as Dyson Ltd. Famously, James Dyson created 5127 prototypes of his first vacuum cleaner before he was satisfied that he had perfected the cleaning mechanism. The modern Dyson empire, though, with global sales of £6 billion and profits of £800 million a year, owes a huge amount to visual (aesthetic) design. The patent on Dyson’s ‘dual cyclone’ vacuum mechanism expired in 2001. Yet the distinctiveness of the products has continued to generate huge sales success even though Dyson prices are often double those of its competitors.
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Figure 10.1 James Dyson





10.2 The design mix


‘When you say “design”, everybody thinks of magazine pages. So it’s an emotive word. Everybody thinks it’s how something looks, whereas for me, design is pretty much everything involved in making something.’


James Dyson, vacuum design billionaire


A useful way to consider design is through the design mix. Every designer must consider the following three factors.





1  Aesthetics: the look, feel, smell or taste (that is, the appeal to the senses).



2  Function: does it work? Is it reliable? Is it strong enough or light enough for the customer’s purpose?
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Figure 10.2 The design mix









3  Economic manufacture: is the design simple enough for it to be made quickly and efficiently and therefore relatively cheaply?





In some cases, all three factors will be of equal importance. In most, there will be a clear priority. As Figure 10.2 shows, with own-label lemonade, cheap production would be the overwhelming priority. So design will focus on simplicity, using a standard plastic bottle shape and low-cost materials that are easy to manufacture. For BMW, design for function would be important, as would the car’s appearance. Production costs will be a lower priority. Firms decide on their design mix after careful market research to identify the purchasing motivations of existing and potential customers. Table 10.1 gives some indications of other design priorities for businesses.
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Table 10.1 Design priorities for different products and services
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Real business


Design disaster


On 9 August 2018, administrators were appointed to oversee the closure of the Raw Chocolate Company. This company and brand had a fashionable proposition: Vegan, Organic chocolate, but it combined this very adult positioning with mass market, quite childlike pack designs and brand names. Coffee Kapow was one name; Mint Mania another. In effect, the designs shouted mid-market pricing, yet a Koffee Kapow small bar was an astonishing £2.79. Design matters; the Raw Chocolate Company got it all wrong.


Q. Explain the importance of matching pack designs to the price of the product.
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Figure 10.3 The design process






10.3 Changes in the mix to reflect social trends


Concern over resource depletion


With the global population forecast to grow from seven to eleven billion by the end of the century, people worry that key resources such as fresh water will not be able to keep up. They may be depleted to the point that there is not enough to go round. The same could be true of any other resource that is finite – that is, in limited supply. By definition, that is true of minerals such as iron ore and gold, as we have only one planet. Other resources that are a concern include fish stocks, crops that like cool climates (if the planet continues to get warmer) and essentials such as oil and wood.


Sustainability means that the purchase you make will not affect long-term supplies of the product because it is automatically replenished. Cod has until recently been regarded as an endangered fish, with a serious risk that supplies will dry up. However, there are plenty of supplies of other fish available, such as pollock. Birds Eye has given in to pressure to reduce the amount of cod in its fish fingers, using pollock instead. Pollock and chips, anyone?


As resources deplete, their price will rise. This will be the signal for designers to try to find alternative solutions based on different materials. Oil is the basis for all plastics. If oil starts to run out, there may need to be a switch back from plastic bottles to glass. Fortunately, that may be aesthetically pleasing.


Designing for waste minimisation and re-use


A well-designed product can be manufactured with minimal wastage. This process starts with computer-aided design (CAD) software, which enables the designer to work out the wastage implications of the production process. Waste minimisation keeps production costs down and helps reduce the environmental footprint of the business. This, in turn, might be used as a marketing message to convey to customers: ‘We are serious about every aspect of the environment.’


Reusage is also potentially important. Economic growth in the twentieth century was associated with an increasingly disposable society. Disposable lighters, razors, torches and even clothes became fashionable.


Recycling


Waste materials can be disposed of in one of only three ways: burn them, bury them or reuse them. Burning them directly increases greenhouse gas emissions and burying them is not only destructive of the environment, but can also cause air pollution. The ideal solution is therefore recycling, which means reusing as much as possible of the original materials. There are simple solutions to this that shoppers seem uninterested in: for instance, getting milk from a milkman who collects, washes and refills glass milk bottles; people are sufficiently ill-focused to make a fuss about recycled plastic when there is a much better solution available. Nevertheless, individual businesses cannot concern themselves with re-educating the public; their duty is to attract custom.


‘A common mistake that people make when trying to design something completely foolproof is to underestimate the ingenuity of complete fools.’


Douglas Adams, author of Hitchhiker’s Guide to the Galaxy
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Figure 10.4 Logic chain: design matters





10.4 Ethical sourcing


The Ethical Sourcing Forum (ESF) has been operating since 2002 to try to give Western companies an idea about the reality of working conditions and practices in different parts of the world. In January 2014, they published a report on Bangladesh – doubtless in the aftermath of the 2013 Rana Plaza industrial disaster in which 1130 garment workers were crushed to death. ESF carried out their research in 400 factories in Bangladesh and found huge inconsistencies within this little-regulated business environment. In 40 per cent of footwear factories, there were too few emergency evacuation exits. The same industry was the worst on a series of measures: wages, excessive working hours and many others. One of the most striking findings was that in 80 per cent of cases in the footwear sector, inspectors were unable to find evidence that workers were allowed a day off a week (as is required by local laws).


For western retailers of clothing and footwear, the working conditions in countries such as Bangladesh, India and Cambodia have become an important issue. Not, in reality, due to the ethical and moral values of the company directors, but because several embarrassing TV and newspaper revelations in the past have made them wary of bad publicity. For ‘ethical sourcing’, it is better to assume ‘sourcing based on fear of ethical revelations’. These are not the same thing.


The term ethical sourcing can be taken in two ways:





1  Sourcing based on the manufacturer or retailer’s ethical values: this might include buying supplies from known businesses or farms, where the customer knows the supplier treats staff, animals and the environment with respect. Implicitly, for this to be based on ethics, the customer must be prepared to sacrifice some profit in this buying process.



2  ‘Ethical sourcing’ may also be a buzz-term, just a box that has to be ticked. In 2009, Cadbury announced that its Dairy Milk brand would ‘go Fairtrade’. Yet other Cadbury brands such as Twirl made no such move. This surely suggests that Cadbury took that purchasing decision on the grounds of consumer image and profit maximisation, not through principle. Then, in 2016 it dropped its attachment to Fairtrade, switching to its own ‘supplier standard’ called Cocoa Life. Does this matter? Well, yes, because it would be nice to trust that a company is genuinely concerned about ethical sourcing; in most cases, you have to read the packaging with great care to be sure of how the supplies have been obtained.





And what is the relevance of all this to design? In some companies, there will be little or none. Designers at Apple have a critical job to do – but they are not involved at all in the process of getting the products made. Many would have no idea of where key components are made – or the conditions for the workers involved. In other companies, designers would have a greater overall responsibility for the coherence of the product. There is not much point in a beautifully designed dress being made from sustainably sourced cotton if the silk lining is made by child labour in South East Asia.


10.5 Product and service design – evaluation


The fundamental theme for evaluating any question involving design is the contrast between long- and short-term thinking. Part of the brilliance of Mercedes engineering is that, although the cars develop year by year, there are design themes that keep a Mercedes completely recognisable. Companies whose objective is short-term profit maximisation are unlikely to think in this way. The key is to take a long-term view, then stick to it. This is what Pilkington did with its self-cleaning glass, which took ten years to perfect. The Toyota Prius took more than ten years to become profitable. As a past Guinness advertisement once said: ‘Good things come to those who wait.’


‘Design can be art. Design can be aesthetics. Design is so simple, that’s why it is so complicated.’


Paul Rand, art director and logo designer
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10.6 Workbook


Revision questions


(30 marks; 30 minutes)





1  Explain how resource depletion might affect the future design of motor cars.


(4)



2  Explain where you would plot the following on Figure 10.2 (page 50). Give your reasoning:








a)  the latest iPhone



b)  the packaging of a Cadbury £5 Easter egg



c)  a new double-decker bus for London.


(9)








3  Explain two marketing advantages that good design could bring to a business of your choice.


(8)



4  How are the concepts of short-termism and design linked?


(3)



5  Briefly state and explain whether ethical sourcing would be important to customers in the following circumstances:








a)  the sourcing of a meat pie at Charlton FC’s snack bar



b)  the sourcing of a meat pie at Dundonald Primary School



c)  the sourcing of a silk scarf sold at a department store.


(6)





Data response


General Atomics: making a killing from drones


Drones are unmanned aircraft that are used for military and surveillance purposes. The market for drones is dominated by four American companies: Boeing, Grummand Northrop, Lockheed Martin and General Atomics. The biggest buyer of drones is the American government. They have been used in Afghanistan and Pakistan to kill locals who were terrorist suspects. From the government’s point of view, the main advantage of drones over boots on the ground is that they enable a government to kill its enemies without risking the lives of its service personnel. There is a huge amount of profit to be made from supplying the government with military equipment such as drones. According to the Stockholm International Peace Research Institute, the American government’s military budget for 2019 is $680 billion, which is as much as the rest of the world’s military spending put together.


The MQ-9 Reaper is an armed drone that fires Hellfire missiles. It was developed by General Atomics for the US government at a cost of $2.8 billion. Unsurprisingly, the research and development programme that led to the creation of the MQ-9 Reaper was kept secret to ensure that competitors to General Atomics were unable to design a ‘me-too’ product. The $2.8 billion investment made by General Atomics has paid off. The American government has bought 106 Reapers at a cost of over $6 billion. Now General Atomics has a new drone to sell – the Avenger. As the photo shows, even though drones may never be seen by the enemy, the design features matter – a warplane should look aggressive; the Avenger certainly does.
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Figure 10.5 General Atomics Avenger, an unmanned combat aircraft





Questions (40 marks; 45 minutes)





1  Use the design mix to assess the right combination of function, aesthetics and economics when designing a plane such as the Avenger.


(10)



2  Look at the James Dyson quote on page 50. Assess how well his thoughts relate to the world of General Atomics and drone bombers.


(10)



3  Evaluate the importance of design to the profitability of a business such as General Atomics.


(20)
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11 Branding and promotion
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DEFINITION


Branding is the skill of giving a product or service distinctiveness – even personality. Promotion is the part of the marketing mix that focuses on persuading people to buy the product or service.
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11.1 Introduction to branding


Branding is the process of creating a distinctive and lasting identity in the minds of consumers. Establishing a brand can take considerable time and marketing effort, but once a brand is established it becomes its own means of promotion. The brand name is recognised and this makes it more likely that the customer will buy the product for the first time. If the experience is satisfactory, the customer is very likely to continue to choose the brand. Once established, branding has many advantages, such as the following:





•  It enables the business to reduce the amount spent on promotion.



•  Customers are more likely to purchase the product again (repeat purchase).



•  It is easier to persuade retailers to put the products in their stores.



•  Other products can be promoted using the same brand name.





‘The best advertising is done by satisfied customers.’


Philip Kotler, marketing guru


11.2 Types of branding


Individual brand


Some brands are so powerful and distinctive that they stand on their own, such as Marmite. Do you know who makes Marmite? Probably not. Unilever is keen to have its corporate brand on many other products, but with Marmite you have to read the small print at the back of the label. The manufacturer has no interest in you associating Marmite with other Unilever brands such as Wall’s (Marmite ice cream, anyone?). A huge benefit of keeping brands individual is that a publicity disaster for one has no effect on the others.


Brand family


Cadbury is now one division of the huge, American-owned Mondelez International. Cadbury itself is perhaps the ultimate British brand family. Whether you buy a Twirl, a Wispa or a bar of Dairy Milk, the Cadbury logo is prominent. It adds value, it adds acceptability (‘I’ll try that, it’s from Cadbury’) and it adds a comforting familiarity – we know we’ll like the chocolate taste and texture because we’ve known it since childhood. A good brand has emotional qualities (even if they’re largely subconscious). Even if you know that Cadbury is now owned by an American multinational, it makes no difference to the warmth of the association with the brand.


Corporate brand


In the global food business, there are three mighty corporations: Nestlé, Unilever and Mondelez. Of those, only Nestlé feels the need to put its logo on everything. So it’s Nestlé KitKat, Nestlé Cheerios and Nestlé Munch Bunch yoghurt. Nestlé wants to reinforce its corporate brand – clearly believing that it adds credibility to the individual brand names. From a UK perspective, this may not really be true; but if you went into a shop in Thailand and saw a Nestlé branded ice cream, it might provide the reassurance you need.


‘The art of marketing is the art of brand building. If you are not a brand you are a commodity.’


Philip Kotler, marketing guru


Among the benefits of strong branding are:





•  Added value: a strong brand gives reassurance and may provide aspirational benefits; some men grow up aspiring to own a BMW or a Ferrari. The brand sums up all the benefits consumers see in the product (or service) and therefore adds value to the purchase.



•  Charging premium prices: a recent report showed that the UK market leader in instant coffee (Nescafé) can charge customers £19.52 per kilo, while supermarket own-label coffees average £12.25. That premium of £7.27 per kilo means Nescafé is priced nearly 60 per cent higher than own-label coffees. This added value gives huge scope for making Nescafé a very profitable brand.



•  Reduced price elasticity: strong branding can be placed somewhere on the spectrum from brand loyalty to brand obsession. People willing to queue 24 hours for a new phone must come into the obsession category. But there are others: football club supporters, players of Fortnite and those who have to be dressed in a particular fashion brand. Brand loyalty lowers price elasticity, enabling the producer to push prices up with little damage to sales volumes. Brand obsession makes this passport to profit even easier.



•  Combatting the discounters: at a time when Lidl and Aldi are among our most successful retailers, weak brands are being squeezed out. Strong branding is the only protection.





‘Authentic brands don’t emerge from marketing cubicles or advertising agencies. They emanate from everything the company does …’


Howard Schultz, founder of Starbucks


11.3 Ways to build a brand


Building a brand has a timescale that matches the phases of a product life cycle. Heinz has built a brand in the UK based on more than a hundred years of beans, soup and ketchup. By contrast, Snapchat built a brand in months rather than decades. Possibly that makes Snapchat’s brand quite brittle, whereas Heinz could cope with the odd flash of bad publicity.


Ways to build a brand include the following:





•  Unique selling points (USPs) are an extreme version of product differentiation. Coca-Cola’s USP is that it was the original cola drink; no one can match that. In many cases, though, a USP is a temporary benefit because it can be copied. Most of the iPhone’s original features have been copied by rivals; often its main differentiator is simply the brand name.



•  Advertising: in 2017, Nestlé backed its superstar £400 million brand Nescafé with £12 million of advertising (mainly on TV). The previous year it did much the same. When a brand is as profitable as Nescafé, it would be foolish to do anything else. Partly the advertising is to keep reinforcing messages about the superiority of the product, and partly it is to encourage new, younger buyers to tap into the mainstream consumer decision. In the UK, coffee means Nescafé.



•  Sponsorship: this is an attempt at long-term brand-building that, when done cleverly, can help give a brand a ‘personality’. Over the years, Richard Branson’s Virgin has been clever at this. More recently, Red Bull has taken some beating. It supports its £290 million UK brand with its backing for extreme sports and Formula 1 motor racing. The cool image established by this helps it fight Coca-Cola’s energy drink brands: Monster and Relentless.



•  Use of digital media: not everyone can afford to sponsor an F1 team (its sponsorship costs Red Bull £80–£100 million a year). So social media offer interesting alternatives. Adwords (bought from Google) allows an advertiser to spend a fixed maximum. Soft drink producer AG Barr could promote its Rockstar energy drink by ‘buying’ Red Bull. It might pay Google 50p for listing Rockstar above Red Bull, whenever anyone ‘Googles’ Red Bull. If it set a maximum spend of £40,000, then after 80,000 Red Bull Googles its money would run out. In the meantime, AG Barr would hope to have attracted lots of energy drink fans to consider the Rockstar brand.





‘Your premium brand had better be delivering something special, or it’s not going to get the business.’


Warren Buffett, multi-billionaire investor


11.4 Changes in branding and promotion to reflect social trends


Viral marketing


For more than 30 years, marketing companies have been fascinated by the thought that brand messages can spread like a virus, from mouth to mouth. Many premium products were launched into highly selected retail outlets and promoted only in selected magazines, in the hope that word would spread. This is how Häagen-Dazs ice cream began and how Jimmy Choo developed (more than 20 years ago). Today’s social media add a huge extra dimension to viral marketing – speed. One tweet from Ronaldo (32 million followers) about a great restaurant could book the place out for months to come. Inevitably, then, companies try to find ways to manipulate supposedly ‘social’ media for their own commercial benefit.
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